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1. Hacnopt ¢oHIa-01IEHOYHBIX CPEACTB

B pesynbrare ocBoeHus yueOHOM JucuuIUIiMHbBL  «MHOCTpaHHBIM  S3BIK
(aHTIUHACKH )» 00yUaromuUics T0DKeH o0manarh npexycmorpeHabiMu OI'OC mo
cuneranbaoctu CIIO :

TexHuueckass dKCIUTyaTallus MOJBHXKHOTO COCTaBa JKeJIe3HbIX jopor (Baronsr)
CIENYIONUMH YMEHUSIMH, 3HAaHUSMH, KOTOPbIe (hOPMHUPYIOT TPO(HECCHOHATEHYIO
KOMITETEHIIMIO, U OOIUMH KOMIETSHIIUSIMHU:

- OK 1. IlonumaTh CyIIHOCTh U COLMAIBHYIO 3HAYMMOCTh CBOEH OynyIieit
npodeccuu, IPOSBIATH K HEH YCTONYMBBIN HHTEPEC.

- OK 2. Opranmn3oBbIBaTh COOCTBEHHYIO JESTEIBHOCTh, BHIOMPATh THIIOBHIE
METOABl U CIOCOOBI BBIMOJTHEHUS MPOGECCUOHATBHBIX 3a7a4, OIEHUBATh UX
3¢ (PEeKTUBHOCTH U KAYECTBO.

- OK 3. IIpyunuMatp penieHuss B CTAaHAAPTHBIX M HECTAHAAPTHBIX CUTYALUAX
Y HECTU 32 HUX OTBETCTBEHHOCT.

- OK 4. OcymectBiarb TOWCK H  HCIOJNb30BaHUE HHQPOpMAIUH,
HeoOxomumoit st 3¢G@(EKTUBHOTO  BBIMOJHEHUS  NMPOGECCHOHANBHBIX  3ajad,
npo(dhecCHOHANBHOIO U JTMYHOCTHOTO Pa3BUTHSL.

- OK 5. Ucnonb3oBaTh MHGOPMAIIMOHHO-KOMMYHHUKAIIMOHHBIE TEXHOJIOTHH B
npodecCuoOHANbHON AESITEIHOCTH.

- OK 6. PabGorate B KoIEKTHBE W KoMaHje, 3(h(PEeKTHUBHO OOIIAThCSA C
KOJJIEraMH, pyKOBOJICTBOM, IOTPEOUTEISIMU.

- OK 7. Bbpatp Ha ce0si OTBETCTBEHHOCTh 3a pabOTy YJIEHOB KOMAaHJbI
(MOTYMHEHHBIX ), PE3YIbTAT BBIIOJIHEHUS 3aJIaHUMN.

- OK 8. CamocrosTenbHO ONpeneNsTh 3agaud MpoGEeCcCUOHATBHOTO U
JMYHOCTHOTO pPAa3BUTHsI, 3aHUMATHCS CaMOOOpa30BaHUEM, OCO3HAHHO IJIAHUPOBATH
MOBBIIICHUE KBATU(PUKAIIIH.

- OK 9. OpueHtnpoBaThCS B YCJIOBHUSAX 4YacCTOM CMEHBI TEXHOJOTHHA B
npodecCuoOHANIBHON AESITEILHOCTH.

Ymern:

-o0marbcss (YCTHO W TMHCBMEHHO) Ha HWHOCTPAHHOM  SI3bIKE  Ha
npodeccroHaNbHbIE U TOBCEIHEBHBIE TEMBI;

- TEepeBOJIUTH (CO CJIOBApEM) HWHOCTPAaHHBIE TEKCTHI MPOPECCUOHAITBHON
HaIpaBJI€HHOCTH.

-CaMOCTOATEIILHO COBEPIICHCTBOBAaTh YCTHYIO W THCHbMEHHYIO pEUb,

. OK1-0K9
IIONIOJIHATH CJIOBAPHBIN 3amac.

3HaTh:

-nekcuueckuit  (1200-1400 nexcuyeckux €AUHMI) M TpaMMaTHYECKUI
MUHUMYM, HEOOXOJUMBIN [ 4YTeHUs U TepeBoja (co cloBapem)
MHOCTPAHHBIX TECTOB MPOPECCHOHATBHON HANPaBIEHHOCTH.




2. Pe3yabTaThl 0cBOEHHA Y4eOHOI IMCUMILIMHBI, MO/JIe:KalIUe POBeEPKe

Pe3yabTaTsl 00yueHust
(ocBOEHHBbIE YMEHMS,
YCBOEHHbIE 3HAHMS) /
Komnerenmun

qachbl

Ymemy:

Y. 1 O6uiarsces (YCTHO U
MICHbMEHHO) Ha
WHOCTPAHHOM SI3bIKE HA
MMOBCEHEBHBIC TEMBI;

Y 4 CaMOCTOATENBHO
COBEPIIIEHCTBOBATH
YCTHYIO U TUCbMEHHYIO
peub, NOIOJIHATh
CJIOBapHBIM 3amac.
3Hamo:

3. 1 Jlexcnuecknii (1200-
1400 nexcuveckux
€JIMHUIL) U
rpaMMaTHYECKUI
MUHUMYM, HEOOXOTUMBIN
JUUISL UTEHUS U TIEPEBOIA
(co cioBapeM)
WHOCTPAHHBIX TEKCTOB

OcHOBHBIE NIOKA3ATEJIN
OIIEHKH Pe3yJbTaTOB

- CocraBnuser
BBICKA3bIBAHUS C
HCTIOJIb30BaHUEM
OCHOBHBIX
KOMMYHHUKaTHBHBIX
TUIIOB peyH (OINUCaHue,
MOBECTBOBAHHE,
paccyxjeHue,
XapaKTEePUCTUKA).

- Bener
KOMOMHHPOBAHHBIH
JIAaJior (CoueTaHue
Pa3HBIX THUITOB
JIMaJIor0B) HA OCHOBE
TEMaTUKHU Y4€OHOTO
OOIIIeHHUsI, B CUTYaIIHIX
0pUIIUATIEHOTO U
HEOPHUITMAITBHOTO
MTOBCETHECBHOTO
o01IeHus

- 3an0JHAET pa3InuHbIC
BUJIBI aHKET B (popme,
IIPUHATON B

Homepa pa3znesioB (Tem) no
paboueii nporpamme

T1.1-T2.12

O01béM BpeMeHH,
OTBEAEHHBIX HA
u3ydenne(MakcuMaabHast

HArpy3Ka)
%
98 33%

Bua u Ne 3apanus nas
ONEepPATHBHOTIO. PyOesKHOI 0
U UTOTOBOT'0 KOHTPOJISA

I1.3: 1.1 -
I1.3:2.12



CTpaHe/cTpaHax
H3y4aeMOTO SI3bIKA.
-Bnageer He0OX0AUMBIM
JIEKCHYECKUM
MaTepuajIoM B

npodeccruoHanbHON HAIIPABIEHHOCTH; paMKax OIpeaeIeHHON TeMaTUKH
Komnemenyuu: - YMeeT pacro3HaBaTh, IEPEBOIUTD U YIIOTPEOIATh B
OK 2, 0K 4 peur U3y4eHHBIM FPaMMATHYECKUI MaTepHal
- YMeeT u3Bnekatb He0OX0AUMYI0 HH(pOpMAITUIO U3
cJoBapei, CIpaBOYHUKOB, HHTEPHET PECYPCOB
Yuems: - CocTaBiaseT T213-T3.7 161 67% I13: 2.13.1; 2.13.3;
V. 2 O6marscs BBICKA3BIBAHMS C 2.14.1;2.14.3;
(yctHO M UCIIOJIb30BaHHEM 3.1.1;3.13;
MMCbMEHHO) Ha OCHOBHBIX
MHOCTPAHHOM SI3bIKE KOMMYHUKATHUBHBIX
Ha TUIIOB PEYH
npodeccuoHanbHbie  (OMUCAHUE,
TEMBI; MIOBECTBOBAHMUE,
Y4 paccyxJeHue,
CamocToATenbHO XapaKTepUCTUKA).
COBEPIIECHCTBOBaTh - Bemer
YCTHYIO U KOMOWHHUPOBAaHHbBIN
MMCbMEHHYIO Peub,  JUAJOT (COYeTaHUE
TTOTIOJIHSATH pa3HBIX TUIIOB



CJIOBapHBIN 3amac.
Bname:

3. 1 JIekcnueckuit
(1200-1400
JIEKCUYECKUX
€JIMHHUIL) 1

JIMAJIoTOB) Ha
OCHOBE TEMAaTHKHU
y4eOHOro O0IIeHus,
B CUTYaIIHsIX
0oHUIIUATIEHOTO U
HEO(UIIMATIBHOTO
ITIOBCEITHEBHOT'O
o01IeHus

- 3anoJHAeT
pa3IUYHbBIC BUIBI

rpaMMaTHYECKUH MHHUMYM,
HEOOXOMMBIH [Tl YTCHHS U TIepeBoa (co
CJIOBapeM) MHOCTPAHHBIX TEKCTOB
npodecCHoHaIbHON HANIPaBICHHOCTH;

Komnemenyuu:
OK 2, OK 4

Ymemy:

¥ 3 IlepeBoauts (co
CJIOBapeM)
WHOCTpPAHHBIC
TEKCTHI
npodeccuoHaIbHON
HAIPaBJICHHOCTH;
Y4

- YmMmeer
MepeBOAUTH (CO
CJIOBapeM)
WHOCTpPAHHBIC
TEKCTHI
npodeccroHaIbHON
HAIPaBJICHHOCTH;

- YMeeT U3BJIeKaTh

aHkeT B (hoopMe, IPUHSITON B 321,323
CTpaHe/CTpaHax U3y4yaeMoro s3bIKa. 3.3.1,333,
-Brnaneer He0OX0UMBIM JIEKCHYECKUM 341,343,
MAaTEepHaJIOM B PaMKax ONpPeAeICHHON gg} ggg
TEMaTUKHU

- YMeeT pacno3HaBarth, IEPEBOJUTD U

yHoTpeOIsATh B peUn U3YUEHHBIN

rpaMMaTHYECKAN MaTepHUal

- YMeeT u3BieKkatb He00X0AUMYIO

uH(opMaIro U3 cIoBapen,

CIIPAaBOYHHMKOB, MHTEPHET PECYPCOB

T2.13-T3.7 161 67%

I13: 2.14.2
3.1.2
3.2.2
3.3.2
3.4.2
3.5.2
3.6.2



CaMOCTOSTENIBLHO
COBEPIIICHCTBOBATH
YCTHYIO H
MUCEMEHHYIO PEUb,
IIOIOJIHSTE
CJIOBapHBIM 3amac.
Buameo:

3 1 Jlekcuueckuit
(1200-1400
JIEKCUYECKUX
SIMHHAI]) 1
rpaMMaTHYCCKHMA
MUHUMYM,
HEOOXOOUMBIN TS
YTCHUS U TIepeBoja
(co cioBapeM)
WHOCTPAHHBIX
TEKCTOB
npodeccroHaIbLHON
HaIpPaBJICHHOCTH;
Komnemenyuu: OK
1, OK 4, OK 5, OK
6,

OK 7.

HEO0OXOUMYIO
uHdOpMAITHIO U3
CJIOBapEH,
CIPaBOYHHUKOB,
UHTEPHET PECYPCOB



3. OueHka ocBOeHHUS Y4eOHOM AUCHUIITTHHBI

[IpeamMeToM OLIEHKH CTy>KaT yMEHUS U 3HaHus, npeaycMoTperHsie @PI'OC
no auciuiuae OI'CO.031HoCTpaHHBIN S3bIK, HAIPABJICHHBIE HA
dbopMupoBaHre oOIIMX U MPOPECCHOHATBHBIX KOMITETEHITHI.

Y, 3niemeHT MOIYJISA
Tekymuid KOHTPOJIb

PyGexubrii

(I)Ole)I U METOAbl KOHTPOJII KOHTPOJIb

U OLIEHKH Pe3yJIbTATOB

00yueHust
WNHocTpaHHbIN S3BIK
(aHTIHHACKHIA)

DopMbI KOHTPOJIS
00yueHust:
-JIOMAITHNE 3a/1aHUS
MPOOJIEMHOTO
XapakTepa;
-TIPaKTHYECKHE
3a/iaHus Mo pabore ¢
nHpopmanuei,
JIOKYMEHTaMH,
JIUTEPATypOH;
-3aII1Ta
WHIUBUAYAIBHBIX U
TPYIIOBHIX 3aaHUN
MIPOEKTHOTO
XapakTepa.
-YCTHBIN U
MUCHhMEHHBIN
KOHTPOJIb OCBOCHUS
MPOMIEHHBIX TEM
-OLIEHKA BBITIOJTHEHUS
3aIaHUM JJIsT
CaMOCTOSITENTLHON
paboTHL.
-IPaKTHYECKHE
3aaHus

-TeCTHI
MeToabIOLeHKH
pe3yJibTaToB
-HAKOTIUTEIbHAS
cucrema OajioB, Ha
OCHOBE KOTOPOH
BBICTaBJISIETCS
UTOTOBasi OTMETKA.
-TpaiuIIOHHAS
crcTeMa OTMETOK B
Oaiax 3a Kaxayro
BEITIOJTHEHHYTO
paboTy, Ha OCHOBE
KOTOPBIX
BBICTABIISCTCS
WTOTOBAsi OTMETKA;
-MOHUTOPHUHT pOCTa
TBOPYECKOM

®opmMa KOHTPOJIS U OLlEHMBAHUSA
IIpome:xxyTounas
arrecTanus

b depeHInPOBAHHbI
1 3a4€T

-IIPOBEPOYHBIC
paboThI
-KOHTPOJIbHBIE
paboTHI

-TCCThI



CaMOCTOSITCIILHOCTH U
HABBIKOB TOJTy4YCHUS
HOBOTO 3HAHHUS
KaXXIbIM
00ydJaronmMcs.

KputepunOll€eHKUNHUCEMEHHBIX 0TBETOB
OueHku
«5»

«4y»

«3»

2»

Kputepun ouenku

KoMMyHUKaTUBHas 3a/1a4a peleHa
HOJHOCTbBIO, IPUMEHEHUE JIEKCUKH aJIeKBaTHO
KOMMYHMKAaTHBHOH 3aj1aue, rpaMMaTH4eCcKue
OIIMOKY JINOO OTCYTCTBYIOT, JINOO HE
HPENATCTBYIOT PEIICHUIO KOMMYHUKATUBHON
3a7iauu

KoMMyHUKaTUBHas 3a/1a4a peleHa
HOJIHOCTBIO, HO IOHUMaHUE TEKCTa
HE3HAYUTENIbHO 3aTPyIHEHO HATMUUEM
rpaMMaTHYeCKUX W/UIIH JIEKCHYECKUX
OmIMOOK.

KoMMyHUKaTHBHAs 3a/1a4a pellIeHa, HO
IOHUMAaHHE TEKCTa 3aTPYJHEHO HATUIUEM
rpyOBIX rpaMMaTUYECKUX OIINOOK MIIN
HEaJIeKBAaTHBIM YIIOTPEOJICHUEM JIEKCUKH.
KomMmyHMKaTHBHAs 3a/1a4a HE pellieHa BBUIY
00JIBILIOrO KOJIMYECTBA JIEKCUKO-
rpaMMaTH4YeCKUX OMIMOOK MU
HEJI0OCTaTOYHOro 00beMa TeKCTa.

KpuTepum oueHKM YCTHbIX Pa3BEPHYTbIX OTBETOB

Onenkn B3aumopneiicreue ¢ Jlekcnueckui I'pammaTnueckass  PDoHeTHUYECK

co0eceTHNKOM 3amac NPaBHJIbLHOCTH oe
peun opopmiieHne
peun

«S» AJlekBaTHas Nwmeercs Gompmoii  Jlekcuka anekBaTtHa Bmaneet
€CTECTBEHHAs CJIOBAapHBIY 3aMac,  CUTYyallUH, PpEAKUE  OCHOBHBIMH
peakius Ha COOTBETCTBYIOIIMM  TIpaMMaTHYECKHe [IPOU3HOCUTE
peruIKu MpeAJIOKEHHON OIIMOKY HE JIbHBIMU U
co0eceIHUKA. teme. Peus Oernmas.  memaror WHTOHALMOHH
[IposiBasieTcs O6bem KOMMYHUKALIUH. BIMHU
peueBas BBICKAa3bIBaHUI HaBbIKaMH
WHULAATHABA 7S COOTBETCTBYET YCTHOU pedn
pelenus MIPOrpaMMHBIM U TEXHUKOMN
MIOCTaBJIEHHBIX TpeOOBaAHUSIM. YTEHUSI.
KOMMYHHKATHUBHBIX
3a/1a4.

«4» KommyHukanus Nwmeetcsa I'pammaTaeckue B
3aTpyAHEHA, peyb JTOCTaTOYHBIN n/unm JIOCTaTOYHOU
y4dalerocs CJIOBapHBIM 3amac, B JEKCUYECKHE CTENEHU

OCHOBHOM OILIMOKHU 3aMETHO BIIAJIEET
COOTBETCTBYIOIIMM  BIUSIOT HA TEXHUKOU
MIOCTaBJIEHHOU BOCIIPUSITHE PEUN YTEHUS U
3az1aye. OCHOBHBIMH



HEOIPaBIaHHO
nay3npoBaHa.

«3»

«2»

HEKOTOpBIC
3aTpyJHEHUS IPU
mo100pe CIIOB.

KommyHnukarus
CYLIECTBEHHO
3aTpy/HEeHa,
yyaluics He
MPOSIBIISIET peYEBOM
WHUIMATUBBI.

KomMmyHuKaTHBHAS
3a/1a4ya He pelieHa
BBUIY OOJIBIIIOTO
KOJIMYECTBA
JIEKCHUKO-
rpaMMaTHIECKUX
OIINOOK WU
HEIOCTATOYHOTO
o0beMa TEKCTA.

HaOmromaercs
JOCTaTOYHAs
0eriocTh peyu, HO
OTMEYaeTCs
MNOBTOPSACEMOCTb U

y4danierocs.

HNmeer
OTpaHUYECHHBIN
CIIOBapHBIH 3amac,
HCTIONB3YET
YIIPOILIEHHBIE
JIEKCUKO-
rpaMMaTHYeCKUe
CTPYKTYpHI, B
HEKOTOPBIX
cIy4asx
HEJI0CTaTOYHbIC
JUIS1 BBITIOJTHEHUS
3a/1aHus B
npezaenax
IIPEUI0KEHHON
TEMBI.

benuprit
JIEKCUIECKUI
3amac, OTCyTCTBYET
Kakas-a1u00
BapUAaTHBHOCTH B
ero
WCIIOJIH30BaHUM.

IIkaJsia oueHku 00pa3oBaTeIbHBIX JOCTUKEHUI

[TporieHT pe3yabTaTUBHOCTH (TPaBUIIBHBIX

OTBETOB)

Oamnn (oTMeTKa)

90 + 100
80+ 89
70 +79

w b~ o,

MIPOU3HOCHUTE
JILHBIMU U
WHTOHAIIMOHH
bIMHU
HaBbIKaMH
YCTHOMU

J0IYCKAa€T HE3HAYNTECIIbHBIC OIIHOKH
B ITPOU3HOIICHUHN OTACIIbHBIX 3BYKOB
Y1 UHTOHALIUW UHOSI3BIYHOM peuu.

Yyamuiics neiaaet
OoubIIoE
KOJINYECTBO
rpyObIX
rpaMMaTHYECKHX
H/WIIH IEKCUYECKUX
OIITNOOK.

Homyckaet
6osb110€
KOJINYECTBO
rpaMMaTH4YeCKUX
OIINOOK.
OtMmeuaetcst
TPYAHOCTb TIPU
BBIOOpE
MIPaBHIIbHBIX
IJIarOJIbHBIX (hopMm
U ynotpeoyieHuu
HY>KHBIX BPEMEH.

OI.[eHKa YPOBHA TOATOTOBKHU

BepOaNIbHbIH aHanor

B
HEJO0CTAaTOYHOMN
CTEIEeHU
BIIaJIEET
TEXHUKOU
YTEHHS U
JIOTTYCKaeT
MHOT'OYHCIIEHH
ble
boHeTHYCCKUE
5
AHTOHAIIMOHHEI
€ OLIMOKH, YTO
3aTpyAHSET
[IOHAMaHHue
peun.

Peun
HeTpaBUIbHAS,
¢ OOIBIINM
KOJIMYECTBOM
(hOHETHYECKUX
5
MHTOHAIIMOHHEI
X OIIMNOOK.
Hab6mromarorcs
MHOTOYHCIIEHH
pl€ OIIMOKK Ha
npaBuiIa
YTEHU.

OTin4HO
Xoporo
VY 10BIE€TBOPUTENBHO



4. Kputepuu OeHUBAHMS 110 Pe3yJIbTATAM TEKYILIero, pyoe;xKHoro u

UTOr0BOIro KOHTpPOJIsA



DneMeHT y4eOHOI
TV CLUTUTAHBI

Tema 1.1

Science and
Technology

Tema 1.2

Science and scientists

Tema 1.3

Conversation about
computers.

Tema 1.4

Conversation about
IBMS.

Tema 1.5

Different kinds of
transport in our life.

KoHTpoJib 1 o11eHKa OCBOCHHS Y4EOHOM TUCHUILIMHBI 110 TeMaM (pasjesiam)

q)OpMBI U MCTOABI KOHTPOJIA

Texymuii KOHTPOJIb

dopma
KOHTPOJIS

Bricka3piBaHUs
10 TEMC

Pesrome

CuryaTuBHbBIC
3a/laHus

TectupoBanue
YcTHBI onpoc

CuryaruBHbIE
3aJaHMs

YceTHBIT onpoc

Bricka3piBaHUS
10 TEMC

TectupoBanue

CutyaTtuBHBIE
3a/1aHUS

[IpoBepsiembie OK

OK1, , OK5

OK3, OK7

OK2, OK3

OK1, OK2

OK1, OK5

Py0exHblIi1 KOHTPOIIB

dopma KOHTPOJIS

CamocrosiTenbHas
pabota Nel

CamMmocTosTenbpHas
pabota Ne2

[IpomexxyrouHnas arrectauus

[Ipoepsiembie OK, ®opma KOHTpOJIS

[Iposepsiembie OK,



Tema 1.6

The importance of

modern technologies.

Tema 1.7
Famous people.
Elizabeth II. G.
Washington.

Tema 1.8

Conversation about
A. C. Doyle.
Conversation about
the English Artists.

Tema 1.9

The United Kingdom
of Great Britain and
Northern Ireland.

Tema 2.1

Government on the
UK.

Tema 2.2

The USA

YceTHBIT onpoc

Pe3rome

VYcrHblit onpoc

Bricka3piBaHUs
10 TEMEC

VYceTHbIi onpoc

TectupoBanue

VYcrHblii onpoc

CuryaTuBHBIC
3a/1aHus

YcTHHBIN onpoc

Pe3tome

YeTHBIT onpoc

Bricka3piBaHUS
10 TEMC

OK2, OK3

OK3, OK7

OK35

OK1, OK4

OK1, OK5

OK2, OK3

CamocrosTenbHas
paborta Ne3

CamocrosTenbHas
pabota Ned

CamocrosTenbHas
pabota No5

CamMocTogTenpHas
pabota Ne6

KoHnTponbHas
pabora Nel



Tema 2.3

Monuments to
Lincoln, Washington

Tema 2.4

Government in the
us.

Tema 2.5

Decades

Tema 2.6

Festivals and Special
Days in the US and
UK.

Tema 2.7
Christmas.

Tema 2.8

Social Events and
Ceremonies in the US
and UK.

YceTHBIT onpoc

TectupoBanue

CutyaTtuBHBIC
3a/laHus

Pesrome
YeTHBI onpoc

CuryaTuBHbIE
3aJaHMs

YcTHHBIN onpoc

Pesrome

YeTHBIT onpoc
TectupoBanue
YcTHBI onpoc

Bricka3siBaHug
o TEME

OK3, OK7

OK1, OK4

OK2, OK3

OK4, OK1

OK1, OK4

OK2, OK3

CamocTrosrenpHas
pabota Ne7

CamocrosTenpHas
paborta Ne§

KoHntponbHas
pabota No2



Tema 2.9

Holiday in the US and
UK.

Tema 3.1

Weddings.

Tema 3.2

Colours and their
Associations in the
UsS.

Tema 3.3

Colours and their
Associations in the
UK.

Tema 3.4

O06o06meHue, IeKCUKa
rpaMMaTHYeCKOTrO
Marepuaia

YceTHBIT onpoc

CutyaTtuBHBIC
3a/laHus

YcrHblii onpoc

Bricka3siBaHusa
0 TeEME

YcTHHBIN onpoc

Pe3rome

YceTHBI onpoc

TectupoBanue

YeTHBIT onpoc

CuryaruBHbIE
3a/laHus

OK4, OK1

OK35

OK1, OK4

OK1, OK5

OK2, OK3

KoHnTponbHas
pabota No2



DneMeHT yueOHOI
TV CLIUTUTAHBI

Tema 1.1

From the history of
railway construction
in Russia

Tema 1.2

Making a railway

Tema 1.3

The Trans-Siberian
mainline

Tema 1.4

From the history of
the London
underground

Tema 1.5

The oldest railway in
Russia

Tema 1.6

@OpMBI U METOJIbI KOHTPOJISI
Tekyimuii KOHTPOJIb

dopma
KOHTPOJIS

[Iposepsiembie OK,

BrickasepiBanusgs ~ OK1, , OK5

10 TEMEC

Pestome

OK3, OK7

CuryatuBHbIE
3aJaHMs

TectupoBanue

VYernoiii onpoc OK2, OK3

CuryaruBHbIE
3a/laHus

VYernbii onpoc OKI1, OK2

Bricka3siBaHug
0 TEME

TectupoBanue OK1, OK5

CuryaTuBHBIE
3a/laHus

Yeraeiid onpoc OK2, OK3

Py0GexxHbIN KOHTPOJIH

dopma KOHTPOJIS [Iposepsiembie OK,

CamocrosTenbHas
paborta Nel

CamMmocTosTenbpHas
pabota Ne2

CamMocTogTenpHas
pabota Ne3

HpOMe)KYTOLIHaH arrecranus

dopma KOHTPOJIS

[Iposepsiembie OK,



First steam
locomotives

Tema 1.7

From the history of
railways in England

Tema 1.8
Tracks for trains
Tema 1.9

XXIl-st century
transport

Tema 1.10

Underground railways

Tema 1.11
Diesel traction

Tema 1.12
High-speed train

Tema 1.13

The orient express

Pestome

VYcrHblit onpoc

Bricka3piBaHUs
10 TEMEC

VYcrHblit onpoc
TectupoBanue
YeTHBI onpoc

CuryaTuBHbIE
3aJaHMs

YcTHHBIN onpoc
Pesrome
YcTHBI onpoc

Bricka3siBaHug
o TEME

YcTHBI onpoc
TectupoBanue

CuryaruBHbIE
3a/laHus

Pesrome

OK3, OK7

OK35

OK1, OK4

OK1, OK5

OK1, OK5

OK2, OK3

OK3, OK7

CamocrosiTenbHas
pabota Ned

CamocrosTenpHas
paborta No5

CamocTosTenpHast
pabota Ne6

CamocrosTenpHas
pabota No7

KonTposbnas
pabota Nel



Tema 1.14

Trains fast and safe

Tema 1.15

O0001enue, TeKCHKa
rpaMMaTHYECKOIO
MaTepuaia

VYernsbiii onpoc OKS

CutyaTtuBHBIC
3a/laHus

TectupoBanue OK1, OK4

VYcrHblit onpoc

CamocTrosrenpHas
pabota Ne§

KonTposbHas
pabota No2



DneMeHT yaeOHO

JUCHUTILINHEI

Tema 3.1

From the history of

electric traction
Tema 3.2

Power supply

Tema 3.3

Overhead line
(catenary)

Tema 3.4

Russia launches electric

loco trials

Tema 3.5
Oo6o61aromiee
MOBTOPEHUE

Tema 3.6
Utoroserii
KOHTPOJIb

q)OpMBI 1 MCTOABI KOHTPOJIA

Tekyimuii KOHTPOJIb

®dopma
KOHTPOJIS

CutyaTuBHbBIC
3aJlaHus

TectupoBanue
VYeTHbII onpoc

Bricka3siBanusa
0 TEME

VYcTHbIM onpoc

CuryaruBHble
3a/1aHus

TectupoBanue

CutyaTuBHbBIE
3a/1aHus

VYeTHbII onpoc

TecTtupoBanue

VYceTHBIT onpoc

Pesrome

[IpoBepsiemble
OK,

OK1,, OK5

OK3, OK7

OK2, OK3

OK1, OK2

OK1, OK5

OK2, OK3

Py0GexHbIl KOHTPOJIB

dopma KOHTPOJIS

CaMocTosTenbpHast
pabota Nel

CamMocTosTenpHast
pabota Ne2

HpOMe)KYTO‘IHaH aTTcCTaluusa

IIposepsembie OK  dopma KOHTpOJIA

KonTponbnas pabota
Nel

[Tposepsembie OK



Tema 4.1
Pantograph and
current collection

Tema 4.2

The first diesel-electric
locomotive in Russia.
Multiply unit operation

Tema 4.3

AC and DC differences

Tema 4.4

O0001I€eHE U IEKCHKA
rpaMMaTHYECKOTrO
MaTepuasa

VYcTHblii onpoc

Bricka3piBaHUS
I10 TEMEC

VYeTHbII onpoc

TectupoBanue

VYeTHbII onpoc

CuryatuBHbIE
3aJaHUs

Pazno
YPOBHEBBIE
TECTBI

OK3, OK7

OK5

OK1, OK4

OK1, OK5

CamocrosiTenbpHast
pabota Ne3

CaMocTosTenbpHast
pabota Ned

HuddepennrpoBaHHbIi
3ayer



5. KOHTpPOJIbHO-01LIeHOYHbIE MATEPHUAJIbI 110 YUeOHOI TUCIUIIINHE

Tectel mst quddepeHITMPOBaHHOTO 3a4eTa (TPOMEKYTOUHAS aTTECTAIINS)

Variant 1

1. Match the English words and word combinations with their Russian

equivalents.
1. to do one’s best  a) IPOCTUTH
2. tofaila) sanm
3. failure b) JIeJ1aTh BCE BO3MOXKHOE
4, toforgive ) cymma
5. poison d)  mpoBamuBaTh
6. Sum e)  TOCIYXUTh MIPUIUHOU
7. tocause f) HeyJava, IpoBaj

2. Choose the most suitable words and translate the sentences.

1. The rich man (thought, considered, supposed) him a reliable partner and an
excellent man.2.He didn’t want anybody to hear their (talk, dialogue, conversation). 3.
I’ve always (wanted, preferred, tried) not to let you be a success in business. 4. I (did,
made, tried) my best to fail it. 5 The real (aim, purpose, reason) was quite different.6. |
had (sold, traded, retailed) your secret to another (firm, company, corporation) for a
hundred and fifty thousand dollars. 7. | was not so (consistent, dependable, reliable) as
you thought I was.

3. Read the text and translate it using a dictionary if necessary.

Friends in Business

A rich businessman was dying. He asked all his family to leave him alone with
his partner who had been in the same business with him for years. The rich man
considered him a reliable partner and an excellent man. The dying man wanted to tell
him something important and didn’t want anybody to hear their conversation.
“George,” the man said when they were left alone. “I’'m dying... I must tell you.
Listen, please. I’ve always been bad to you. When you were away on business two
years ago, | took a big sum of money from the safe and never put it back. I’ve always
tried not to let you be a success in business. I’ve greatly disliked you all my life. You,
certainly, remember that plan of yours. | did my best to fail it. You thought that the
changes in business had caused its failure, but it wasn’t so. The real reason was quite



different. | had sold your secret to another company for a hundred and fifty thousand
dollars. Oh, George, forgive me, please. “Don’t worry, Jim,” said George, “That’s all
right. I’ve also got to tell you something. | was not as reliable as you thought | was. It
was | who put poison into your soup at dinner yesterday.

Variant 2

1.Match the English words and word combinations with their Russian
equivalents.
1. coacha) momnumHa
fare b)  pasb6oiinuk
toll ¢) Bopora
highwayman d)  aparoneHHBI KaMEHb
jewel €)  Buanmenen
gate f) TIaTa 3a mpoest
Ownerg)  KapeTa, JUJIFKAHC

No ok W

2. Read the text and translate it using a dictionary if necessary.

Travelling in England before Railways

l. There were no railways in England before 1825, and if people wanted to
travel, they had to go by road, either on foot, on horseback, or in a coach. In the days
before the railways, however, people did not travel much as they do now. The roads
were few, and most of them were bad, especially when it rained.

II. A journey by coach took a long time. Two hundred years ago passengers
travelling from Edinburgh to London were two weeks on the road — if the weather was
good. A hundred years later, however, the journey was often done in about two days.
And today the “Flying Scotsman” can take you from London to the capital of Scotland
in about eight hours. Today many people prefer to go to Edinburgh by air.

I11.  People could not travel much in the past as the fares were high. A coach
could not take many people, and the fares were high, because the coach-owners had to
pay for the use of the houses that were kept at the inns (hotels) all along the road.
Travelling in the mail coaches cost still more, because they carried the mail and did
not travel so slow.

IV. Even walking cost money in those days. On every highway (main road)
and also on many of the side roads, there were gates called toll-gates. When a traveller
came to one, he had to pay a toll. This money was used to make the roads better.



V. But the greatest danger on the road two hundred years ago were the
highwaymen. A highwayman was a man who took money and jewels from travellers
on the roads. Highwaymen stopped coaches and cried: “Your money or your life!” and
the passengers had to give them all they had. Sometimes a highwayman had friends at
the inns. If some rich people stayed a night at an inn, the highwayman was soon told
and he then stopped their carriage the next day.

VI. That’s way travelling in the days of the coaches was dangerous and not
very comfortable.

3. Choose the correct word from the box and translate the sentences.

money and jewels  dangerous coach  “Flying Scotsman”  the capital of
Scotland

the journey Highwaymen attheinns comfortable toll-gates

1. Ajourney by took along time.

2. A hundred years later _ was often done in about two days.

3. And today the “  ” can take you from London _ in about eight hours.
4. On every highway there were gates called

5. A highwayman was a man who took __ from travellers on the roads.

6.  stopped coaches and cried: “Your money or your life!” and the

passengers had to give them all they had.
7. Sometimes a highwayman had friends

8. That’s way travelling in the days of the coaches was __ and not very

Variant 3

1. 1. Match the English words and word combinations with their Russian
equivalents.

1. living thingsa)  mopckue Bogopociu

2. layersb)  He Bo300HOBIsIEMBIE pECYPChHI

3. algae ¢)  4em korga-nubO paHbIIe

4, nonrenewable resources d)  mmacTe

5. than ever before €)  mapuuKOBBIH 3 deKT

6.  supply f) ’KUBBIC CyIIIECTBA

7. torelease Q)  mpHPOAHBIC SHEPrOPECypPChI (TOILIUBO)

8.  toreact with moisture h)  3amacer

9.  the greenhouse effect 1) B3aMMOJICHCTBOBATH C BJIAroif

[EEY
o

fossil fuels j) BBICBOOOKIATh



2. Read the text and translate it using a dictionary if necessary.

Fossil Fuel

l. All the machines of modern life require energy to make them run. About
90 percent of that energy comes from burning fossil fuels. Fossil fuels include
petroleum (oil), coal, and natural gas. These materials are called fossil fuels because,
like fossils, they are the remains of organisms that lived long ago. Organisms are
plants, animals, and other living things.

Il.  Fossil fuels formed in the ground hundreds of millions of years ago. Dead
organisms sank into mud and rock. Over time many layers of rock built up. The
remains of the organisms slowly changed in form to become different kinds of fossil
fuels. Coal came from plants. Petroleum and natural gas came mainly from
microscopic organisms such as algae.

I11.  Fossil fuels and their products have many uses. Power plants use fossil
fuels to produce electricity. People heat their homes and other buildings by burning
fossil fuels. Gasoline, a product made from petroleum, fuels cars and other kinds of
motorized equipment. Many countries produce fossil fuels. The greatest producer of
petroleum is Saudi Arabia. Russia has the largest reserves of natural gas. Major coal-
producing countries include the United States and China. The United States uses more
fossil fuels than any other country.

IV. Since the late 1700s people have been using fossil fuels at a faster rate
than ever before. But the planet’s supply of fossil fuels is limited. Fossil fuels are
called nonrenewable resources. Once they are used up, they will be gone forever. The
use of fossil fuels harms the environment as well. When petroleum and coal burn, they
release harmful gases. These gases react with moisture to create acid rain, a dangerous
form of pollution. Burning fossil fuels also increases the temperature of Earth’s
atmosphere. This warming, called the greenhouse effect, may be harmful to living
things. For these reasons scientists and engineers have developed new ways to
generate power without using fossil fuels. For example, some cars are now powered by
electricity instead of gasoline. Homes can be heated by sunlight.

3. Choose the correct word or phrase from the box and translate the sentences.
layers of rock include the ground fossil fuels mainly harmful
nonrenewable resources instead of heated increases

1. Fossil fuels formed in __ hundreds of millions of years ago. 2. Over time
many ___ built up. 3. Petroleum and natural gas came ___ from microscopic



organisms such as algae. 4. Power plants use ___ to produce electricity. 5. Major

coal-producing countries ___ the United States and China. 6. Fossil fuels are called
___.7. This warming, called the greenhouse effect, may be __ to living things. . 8.
Burning fossil fuels also  the temperature of Earth’s atmosphere. 9. Homes can be

____by sunlight. 10. Some cars are now powered by electricity __ gasoline.

Variant 4

1. Match the English words and word combinations with their Russian
equivalents.
1.  fuelsource a)  cwIpas HEPTH

2. gasoline  b)  pak merkux

3. crudeoil ¢)  HaBomHeHue

4, lung cancer d)  TpaHCHOpPTHOE CPEJICTBO

5. supergreencars e)  paboTaTh Ha

6.  drought f) HCTOYHUK TOTLJIMBA

7. flood g)  mapHuKOBBIE ra3bl

8. vehicle h)  OeH3uH

Q. greenhouse gases 1) HKOJIOTUYCCKU YUCThIE MAIIIUHBI
10. torunon j) 3acyxa

2. Read the text and translate it using a dictionary if necessary.

Supergreen Cars and the Environment

l. The Aptera is a “supergreen” car. Supergreen cars are designed to run on
a fuel source other than gasoline. What’s wrong with gasoline? First, it comes from
crude oil. There is only so much crude oil left inside Earth. When we run out, there
will be no more gasoline to power cars.

1. But that is not the only problem with gasoline. Cars that run on gasoline
damage the environment. Each year the average gasoline-powered car sends nearly 6
tons (5.4 metric tons) of greenhouse gases into the air. Greenhouses gases are not
friendly to humans or animals. They pollute the air. Air pollution can make people sick
with lung cancer, asthma, and other diseases.

1. Greenhouse gases are not friendly to Earth either. These gases trap the
sun’s heat, much like the glass roof on a greenhouse. They cause Earth’s temperature
to rise. This global warming is melting ice at the North Pole and the South Pole. The
more the ice melts, the less ice there will be to cool Earth. Experts predict that melting



ice will also cause sea levels to rise. Rising seas could flood islands and coastal
regions around the world. And that’s not all. Scientists agree that global warming
could lead to more extreme weather, such as hurricanes, droughts, and floods.

IV. Supergreen cars are a wonder of transportation because they present an
Earth-friendly alternative to gasoline-powered vehicles, polluted air, and global
warming. Some supergreen cars run on vegetable oil, solar (sun) energy, and other
nonpolluting fuels. These cars are still in the experimental stage. You are not likely to
see them on the road anytime soon.

3. Choose the correct word or phrase from the box and translate the sentences.

forecast

run on considered
illnesses  hurricanes
nonpolluting floods

1. Supergreen cars are ____to run on a fuel source other than gasoline.

2. Experts ___ that melting ice will also cause sea levels to rise.

3. Air pollution can make people sick with lung cancer, asthma, and other .
4.Some supergreen cars vegetable oil, solar (sun) energy, and other ___ fuels.
5. Global warming could lead to more extreme weather, such as, droughts, and

Variant 5
1. Match the English words and word combinations with their Russian

equivalents.
1. to diverse a) MSKOTB TUIONA

2. toexploit b)  momoTeie 3epHa

3. toinvent C)  wu3MenbUaTH

4.  ground beans d)  HcmoaB30BaTh, IKCILTYaTUPOBATH
5. toroast e)  OpoauTh, PepMEHTHPOBATH

6. pulping machine f) apoMaTHBIN 3amax

7. toferment g) xaputh

8. togrind h)  paspaboraTh

9. thepulp ) nu300peTaTh

10.  fragrant scent ), JaBUJIbHAS] MAIlTUHA



2. Read the text and translate it using a dictionary if necessary.

A Favorite Breakfast Drink

l. Powdered instant coffee was devised by Satori Kato but his idea was
exploited by others. The practice of drinking coffee was invented earlier in Arabia
where it was reported by ar-Razi, an Arab doctor in the 10th century. Coffee is
produced in many countries. The coffee bush was found originally in Arabia and
Ethiopia, but it is now grown in Brazil, Colombia, the Ivory Coast, Uganda, Angola,
Kenya and Central America. The beans are ground and coffee is used in most countries
as a breakfast drink. The first coffee house was opened in Paris in 1643 and was
followed by others in Oxford (1650) and London (1652).

Il.  Coffee bushes produce berries which contain one or two beans. The
berries are picked by hand and put through a pulping machine. The beans which come
out are placed in large tanks where the pulp ferments. The beans are then washed and
spread out to dry in the hot sun. After two weeks the beans are put through a machine
which removes the last of the skin. It is not until the coffee beans have been roasted
that they get their fragrant scent. After roasting the beans are ground between steel
rollers. The best coffee is made from freshly roasted and ground beans.

3. Agree (True) or disagree (False) with the following statements.
The practice of drinking coffee was invented earlier in Arabia.
Powdered instant coffee was devised by ar-Razi.
The coffee bush was found originally in Ethiopia and Arabia.
The first coffee house was opened in Paris in 1642.
It was followed by others in Oxford (1650) and London (1652).
Coffee berries usually contain only two beans.
The beans are usually placed in large containers.

8. After two weeks the beans are put through a machine which removes the
first skin.

9.  After roasting the beans are ground between steel rollers.

10. The best coffee is made from freshly roasted and ground beans.

No ook owh e



Variant 6

1. . Match the English words and word combinations with their Russian
equivalents.
1. pollena)  kieTka KpoBH

2. exact copiesb)  mwuHICT

3. abloodcell ¢)  meuIBIA

4. injectd)  xupyprus

5. tweeze €)  TOYHBIC KOIIHUHU

6.  scalpel f) BBOJIUTH

7. surgery g)  KHBBIE CyIIleCTBa

8.  thebloodstream h)  ne3okcuprOOHYKICHHOBAS KUCIIOTA
Q. living thingsi) CKaJIbITCITh

10. deoxyribonucleic acid (DNA) j) KPOBOTOK

2. Read the text and translate it using a dictionary if necessary.

Microscience and Medicine

l. Tiny nanomachines might be able to clean rivers and the air by gathering
pollutants, the way bees collect pollen. They might even be able to re-create
themselves. Each nanomachine could make hundreds of thousands of exact copies of
itself.

Il.  Doctors especially are very excited about micromachines and
nanomachines. These machines would be far smaller than a blood cell. They could be
injected into the human body. Cruising through the body, these machines could
perform all sorts of tasks to keep a person healthy.

I11.  Sniegowski’s micro steam engine could be connected to tiny tweezers or
scalpels. It could operate on individual cells within a human body. It would be like a
tiny robot doctor. “Eye surgery, neurosurgery [operating on nerve cells], certain areas
of brain surgery come to mind,” says Paul McWhorter, an engineer who helped
develop the steam engine. “Right now we’re looking for neurosurgeons and eye
surgeons to tell us what they really need.” Perhaps, someday doctors could inject
thousands or even millions of these tiny machines into the bloodstream. There they
will cruise like miniature submarines, looking for damaged or unhealthy cells and
repairing them. They could cure people before they even knew they were sick.

IV. Other nanomachines might be able to build molecules of any medicine,
atom by atom. The machines may even be able to build other tiny machines exactly
like themselves, reproducing like the cells in the human body.



V. In early 2009, scientists from the United States and China created a
twoarmed nanomachine. The machine is only 150 by 50 by 8 nanometers. It will be
able to build molecules of deoxyribonucleic acid (DNA) one atom at a time. The DNA
molecule is the genetic building block of living things. The nanomachine might serve
as a factory for assembling new types of materials and medicines

3. Choose the correct word from the box below and translate the sentences.

1. These machines would be far smaller than .

2. These machines __ all sorts of tasks to keep a person healthy.

3. It would be like __ doctor.

4. Perhaps, someday doctors could _ thousands or even millions of these tiny
machines into the bloodstream.

5. There they will cruise like __, looking for damaged or unhealthy cells and
repairing them.

6. Other nanomachines might be able _ of any medicine, atom by atom.

7. It will be able to build molecules of _ (DNA) one atom at a time.

could perform inject a blood cell a tiny robot
miniature submarines  deoxyribonucleic acid  to build molecules

Variant 7

1. Match each word or phrase on the left with the correct equivalent on the right.
1.  ahobby horse a)  not for women

2.  aboneshaker b)  a device which causes movement between parts
of a machine
3. unladylike c¢)  to sit or stand with your legs on either side of a frame

4. the rear wheel d)  astick with a head of a horse

5. cranke) aback wheel of a vehicle

6.  straddle the frame f) the old-fashioned roads made of the rounded
stones

7.  cobblestone streetsg)  a very old, uncomfortable vehicle

2. Read the text and translate it using a dictionary if necessary.
Bicycles

l. Bicycles take the wheel and connect it directly to human muscle power.
The first bicycle appeared in 1817 in Paris, France. People called it the hobby horse.



At first glance, the hobby horse looked a lot like a modern bicycle. It had two metal
wheels connected by a wooden or metal frame. At second glance, the differences stand
out. The hobby horse had no pedals, crank, or chain. Riders did not sit on it. Instead,
they straddled the frame and pushed the machine along with their feet.

I[l. A new kind of bicycle appeared in the 1860s. People called it a
boneshaker. The name was painfully on target. The bicycle’s metal wheels and iron
tires made for a bone-shaking ride. This bike had wooden pedals attached directly to
the front wheel. It had no chain to move the back wheel. This front-wheel drive made
for a hard, slow ride over the cobblestone streets of the day. In 1870 the high-wheeler
arrived on the scene. Its front wheel was 53 inches (135centimeters) wide. With its
huge front wheel and tiny back one, the high-wheeler was a fascinating sight. It had
solid rubber tires—a big improvement over metal. The modern-style bicycle finally
arrived in 1885 in Great Britain. Called the Rover Safety Bicycle, this bike had pedals
set between the wheels and a chain attached to the rear wheel. The bicycle had grown
up.

I11.  Bike riding has always been fun. But at first, it wasn’t for everyone.
Before the 1890s, men did all the riding. Many people thought that sports and exercise
were unladylike. This men-only attitude started to change in the 1890s. That’s when
women began riding bicycles. This new activity required new, more comfortable
clothing. The bicycle helped make women freer and more independent. Susan B.
Anthony was a pioneer for women’s rights. In 1896 she stated that the bicycle had
done more for women’s freedom than anything else in the world. Young people
wanted to enjoy the fun and freedom of bicycles too. But for a long time, bikes were
made only in adult sizes. That changed in the late 1910s. Bike makers started to make
kid-size bicycles. It wasn’t long before young people everywhere were zooming along
on bicycles built especially for them.

3. Insert the prepositions (along, to, on, by, for, in) and translate the sentences
into Russian.

1. They pushed the machine __ with their feet. 2. This bike had pedals set
between the wheels and a chain attached _ the rear wheel. 3. It had two metal
wheels connected _ a wooden or metal frame. 4. Riders did not sit ___ the bike. 5.
But _ a long time, bikes were made only _ adult sizes. 6. The first bicycle
appeared 1817  Paris, France. 7. She was a pioneer  women’s rights. 8.
This front-wheel drive made __ a hard, slow ride over the cobblestone streets of the
day. 9. So she stated that the bicycle had done more = women’s freedom than
anything else  the world. 10. It wasn’t long before young people everywhere were
zooming ___ bicycles built especially __ them.



Variant 8
1. Read the text and translate it using a dictionary if necessary.

The Tube

l. The world’s first subway system was built about 150 years ago in London.
In the mid-1800s, London suffered badly from overcrowding. Cars had not yet been
invented. But tens of thousands of wagons and carriages pulled by tens of thousands of
horses filled the streets. To handle this growing problem, workers built an
aboveground, steam-powered train system around central London. Six railway stations
ringed the city. But the problem wasn’t solved. So the British government announced a
bold new proposal. It would build an underground railway tunnel beneath the inner
city. This system would connect all six aboveground stations. Each passenger could
exit the train at the station closest to his or her downtown destination. This radical plan
made some people nervous. The idea of huge machines rumbling along beneath their
feet led to dark thoughts.

I1.  Despite these doubts and fears, construction on the London Underground
began in 1860. Workers used a method called cut and cover. Construction crews cut
down through surface streets. They dug trenches 15 feet (4.6 meters) deep for the train
tunnels and rails. They walled up the sides of the trenches with bricks and roofed them
over with brick and iron supports. Finally, workers rebuilt the streets above. It was not
an easy job. London’s thousands of subway workers had only picks and shovels to dig
with. They did most of the work by hand.

[11.  On opening day, January 10, 1863, nearly forty thousand eager passengers
took a ride on the London Underground Circle Line. A few months later, the
Underground was carrying more than twenty-six thousand passengers every day.

IV. Not all passengers enjoyed the ride. The steam locomotives were noisy.
The air in the train cars filled with choking coal dust and sulfur. Electricity eventually
solved the noise and pollution problems. In 1882 in New York City, U.S. inventor
Thomas Edison switched on the world’s first electrical power system. By 1905 the
London Underground was ready to go electric too. Quiet electric train cars replaced
the roaring locomotives. All that coal dust and sulfur vanished too. The London
Underground became the first subway line to operate electric trains.

V.  Through the twentieth century, the Underground kept right on growing.
New routes ran beneath the central city and out to suburbs to the north, south, east, and
west. Workers used a new, improved method to construct them. Now they dug a wide
entrance hole deep into the ground. From there, they hollowed out tunnels beneath the
surface. Gasoline-powered machines burrowed through dirt and rock. The project left



surface streets fully intact. The method was called deep-level tube tunneling. That’s
why Londoners refer to the Underground as the Tube.

VI. In the twenty-first century, the London Underground has 253 miles (407
km) of track connecting 268 stations. It is the longest public transportation system in
the world. Each year more than one billion passengers ride the Tube’s more than four
thousand subway cars. Without this wonder of transportation, London would not be
London.

2. Make up sentences paying attention to the word order and translate them into
Russian.
railway / the city / stations/ Six / ringed /.
would / all / six / connect / aboveground / This system / stations /.
some / radical / made / This / people / plan /nervous /.
crews / surface / cut down / Construction / through / streets /.

5. every day / the Underground / more than / thousand / was carrying /
passengers / A few months later / twenty-six /.

6.  train cars/ Quiet / locomotives / electric/ replaced / the roaring /.

7.  the first subway / The London / became / line / electric trains /
Underground / to operate/.

8. machines / Gasoline-powered / burrowed / rock / through / dirt /.

Q. public / the longest / transportation / It / system / in the world / is /.

10. London / Without/ transportation / be London / this wonder / of / would not

W e

3.. Make up questions to the italicized words.

1. The world’s first subway system was built about 150 years ago in London.

2. The British government announced a bold new proposal.

3. Each passenger could exit the train at the station closest to his/ her
downtown destination.

4.  They dug trenches 15 feet (4.6 meters) deep for the train tunnels and rails.

5. London’s thousands of subway workers had only picks and shovels to dig
with.

6. On opening day, January 10, 1863, nearly forty thousand eager passengers
took a ride on the London Underground Circle Line.

7. Not all passengers enjoyed the ride.

8. In 1882 in New York City, U.S. inventor Thomas Edison switched on the
world’s first electrical power system.

9.  That’s why Londoners refer to the Underground as the Tube.



10. In the twenty-first century, the London Underground has 253 miles (407
km) of track

connecting 268 stations.

11. Itis the longest public transportation system in the world.

12.  Each year more than one billion passengers ride the Tube’s more than
four thousand

subway cars.

3.2.2. TectoBsie 3aaanus (apyras ¢opma KOHTPOJIS)

Variant 1

1.1 found my lost pen while I ... for my pencil sharpener.

a) look c) was looking

b) looked d) am looking

2. When my friend studied abroad, his parents ... him every week.
a) phone ¢) had phoned

b) was phoning d) phoned

3. When | got home | realized that I ... my wallet.

a) lose c) had lost

b) lost d) has lost

4. When you ... to the Chinese restaurant next time, what will you eat?
a) go C) goes

b) will go d) would go

5. The man ... by the police yesterday, but he denies robbing the bank.
a) arrest c)is arrested

b) was arrested d) had been arrested

6. It's raining, but if you take your umbrella, you ... wet.

a) don't get c) won't get

b) didn't get d) doesn't get

7. Last year Helen was staying with her brother while her house ... .
a) repaired Cc) was repaired

b) was being repaired  d) had been repaired
8. Cars are fast and convenient. On the other hand they ... problems in cities.

a) cause ¢) has caused

b) caused d) will cause

9. When 1 ... up yesterday, | was told this good news.
a) wake c) woken

b) woke d) has woken

10. We ... come to your party, but it depends on our finding a babysitter.
a) may C) has to



b) couldn't d) mustn't
11. Our teacher is a reliable person, we ... trust everything to her.

a) shouldn't c) is able

b) can d) must

12. I'll feel ... when my exams are over.

a) happy c) more happily

b) happily d) happiest

13. I felt ... because I had fever.

a) badly C) worse

b) bad d) the worst

14. Have you ever seen a film at ... Embassy cinema?

a) - ) an b)a d)the
15. I don't like to have ... animals in my flat.

a)the C) an

b) — d) some

16. Excuse me, could you move. | can't see ... .

a) something ¢) nothing

b) anything d) none

17. ... is at home and no one knows where they are.

a) Anybody c) Everybody

b) Somebody d) Nobody

18. I'd like to thank everybody who has helped me ... this experiment.
a) in c) at

b) on d) with

19. He wanted to borrow my bike ... the weekend but I couldn't lend it to him.
a) to c) for

b)in d)on

20. My cat catches a lot of ... .

a) mouse c) the mice

b) mice d) a mouse



Variant 2

1. If I ... lots of money, I'll help the poor.

a) will have ¢) had

b) have d) would have

2. The trouble with you is that you always ... . | don't like it.

a) are complaining ¢) had complained

b) were complaining d) complain

3.1 ... her a letter and sent it off immediately.

a) had written C) was writing

b) will write d) wrote

4. I'm afraid my hands are a bit dirty. I ... in the garden since morning.
a) have been working  c¢) work

b) was working d) worked

5. By the year 2100 most of the Earth's natural resources ... up.
a) will use c) will have been used

b) will be used d) will be using

6. The first person who ... the finishing line is the winner.

a) Crosses c)crossed

b) cross d) will cross

7. My trousers ... ironing. Have you got an iron?

a) needs c) will need

b) need d) had

8. What happens in your class? ... lectures every day?

a) Had the teachers read c) Do the teachers read

b) Did the teachers read d) Are the teachers reading

9. If you ... me a song, | will sing it at the concert.

a) write C) has written

b) will write d) had written

10.1 disapprove of people who ... all sorts of promises which they have no
intention of keeping.

a) made c) have made

b) makes d) make

11. When the burglar ran out of the house he ... by a policeman.

a) arrested ¢) had been arrested

b) was arrested d) would be arrested

12. 1 think you ... practise driving every day to become a safe driver.
a) can't c) should

b) might d) has to



13. You ... have my car if you like. I shan't be using it tomorrow.

a) had to C) may

b) are to d) must

14. ... war between these two countries was the longest in history.
a) - c)a

b)the d)those

15. On my way home | saw a terrible fire. Luckily the fire brigade soon came
and put out ... fire.

a) a C) -

b) the d)such

16. There are ... things that money can't buy.

a) any C) some

b) much d) something

17. Helen had to pay extra at the airport because she had too ... luggage.
a) much c) little

b) many d) few

18. There is a newspaper shop ... the end of the street.
a) at c) on

b) in d) by

19. ... we get to the theatre, the play will have started.
a) until C) as soon as

b) by the time d) whenever

20. Nowadays there are many good reasons for using bicycles ... cars to travel
in city centers.

a) instead of c) except for
b) but d) such as
Variant 3

1. An Englishman very seldom ... on the Underground. He prefers to read

newspapers.
a) talk c) is talking
b) talks d) has talked
2. If you ... with the traffic regulations, you will get into trouble with the police.
a) aren't complied c) don't comply
b) won't comply d) wouldn't comply

3.1 ... whether you are telling the truth or not and if you are telling a lie, I will
never believe you again.

a) shall know c) should know

b)know d)knew



4. Whose horse you ... when | saw you yesterday?

a) were riding c) was riding

b) did ride d) rode

5. Do you know the time? It ... to me it's about two o'clock.

a) seem c) seemed

b) seems d) will seem

6. Tom met me at lunch time and said, "I ... you at the bus stop this morning".

a) haven't seen c) didn't see

b) not seen d) hadn't seen

7. Since my first visit to this city many new houses ... here and it has become
Very noisy.

a) are built ¢) had been built

b) were built d) have been built

8. My doctor says, "A week in the country ... you feel better". | want to follow
his advice.

a) made c) will make

b) has made d) is making 9.1 don't like that she always ... with
you.

a) arguing ¢) had argued

b)argue d)is arguing

10.1 noticed that it ... all night and everything was wet.

a) was raining c) rained

b) had been raining d) has been raining

11. She ... him your message as soon as she sees him.

a) give c) will give

b) gives d) gave

12. Yesterday | was going home on foot and all the time I had an impression that

a) am followed c) followed

b) was followed d) was being followed

13. ... you remember what you were doing at this time yesterday?
a) can Cc) must

b) may d) should

14. We moved last week and now we have a much ... flat.

a) good C) best

b) better d) the best

15. The Mediterranean is not as ... as the Pacific Ocean.

a) larger c) largest

b) large d)the largest



16. | didn't expect to see him there. He was ... last person | wanted to see.

a) the c)a

b) - d) one

17. 1 didn't know ... answer to that question, so | left it out.
a)the C) an

b) - d) no

18.1 don't go swimming very ... nowadays.
a) many c) few

b) much d) a little

19. Excuse me, there is ... I'd like to ask you.
a) anything ) something

b) everything d) none

20. A combination of the use of bicycles ... cheap public transport solves the
problem of traffic jams in large cities.

a) with c) of
b) by d) in
Variant 4

1. There ... several groups of people in Britain that try to protect the
environment.

a) is C) was

b) are d) were

2. Money ... the root of all evil in our life.

a) are c) have been

b) were d) is

3. This time next week | ... on a beach in the Crimea.

a) shall lie c) will be lying

b) lie d) was lying 4.1 just ... some soup. Would you like
some?

a) have made ¢) had made

b) made d) had to

5. Jim told me that he ... in the school basketball team.

a) plays c) will play

b) had played d) is playing

6. Some birds, such as parrots, ... alive and sold as pets.

a) catch c) will be caught

b)caught d)are caught

7. He is used to working late at the office. He ... it every day.



a) do c) did

b) does d) will do

8. The boy ... a bicycle along the motorway when he was hit by the car.
a) ride ¢) has been riding

b) rode d) was riding

9. The boy ... to hospital by the driver of the car.

a) was taken ¢) had been taken

b) took d) will take

10. As soon as the traffic ... the children ran across the road.

a)stop c)stopped

b) had stopped d) will stop

11. How long you ... for me? - For half an hour.

a) are waiting c) do wait

b) did wait d) have been waiting

12. People ... prevent pollution of the rivers before it gets worse.

a) could c) must

b) need d) had to

13. If you are spoiled as a child you ... have a lot of problems in adult life.
a) must c) could

b) may d) should

14. The more you work the ... you'll pass your exams.

a) good C) best

b) better d) the best

15. In Britain you officially become ... adult on your eighteenth birthday.
a) the C) -

b) an d)a

16. What plant does your father work at? - He works at ... plant down the road.
a) a C) -

b)the d)those

17. Shall we have ... dinner today? - Don't worry, at the end of the conference
they will serve a dinner.

a) - c) the

b) a d) an

18. Whose spectacles are these? - ... are on the table, and these are my
spectacles.

a)your C) our

b) yours d)their

19. Most visitors to Britain aren't used to driving ... the left and have a lot of
problems.



time.

a) to c)in

b) at d) on

20. Don't forget to thank Martin ... coming. He risked his life to get there.
a) in C) at

b) by d) for

Variant 5

1. My mother is ill. She will stay in bed until she ... better.

a) get c) will get

b) gets d) is getting

2. When he lived in London, he ... a lot of time in the muse ums.
a) spend c)spent

b) had spent d) was spending

3. | ... by the door for a long time until someone opened it.
a) wait C) waited

b) am waiting d) had been waiting

4. It's raining. | hope you ... your car outside.

a) won't repair c) didn't repair

b) don't repair d) were not repaired

5. In two years' time my parents ... for twenty-five years.
a) will be married c) are married

b) will have been married d) have been married
6. They said they would not work after 6 p.m. if you ... them overtime.

a) won't pay c) didn't pay

b) don't pay d) not pay

7. When I ... her, | waved her, but she didn't noticed me.

a) had seen C) see

b) saw d) have seen

8. Where were you at about three yesterday afternoon? -Oh, | ... my car at that
a) was repairing ¢) had been repairing

b) repaired d) had repaired

9. My sister will not finish medical training until she ... twenty-tree.
a) will be c) have been

b) is d) are

10. Do you know what you ... in your life by the year 2020?

a) will achieve c) will have achieved

b) achieve d) will be achieved



11 What a surprise! There ... a fall in the cost of living lately-

a) has been c) will be

b) had been d) was

12.1 decided to have some English lessons so that I ... practise when | come to
the US.

a) can C) may

b) must d) should

13. If you telephone early next week, the secretary ... give you your exam
results.

a) must C) may :

b) can d) will be able to

14. The man said to me, "Just don't park your car ... my gate again. O.K.?"
a) far c) behind

b) nearly d) in front of

15. ... young nowadays have a very cynical attitude to the police.
a) the Cc) an

b)a d) -

16. ... old people sometimes feel lonely.

a) - ) an

b) the d) this

17. The government is going to provide ... houses for homeless people.
a) most c) few

b) much d) more

18. ... is wrong with the car, and it won't start.

a) anything ¢) nothing

b) something d) everything

19. Prices go up and up. Everything gets ... expensive.

a) most C) more

b)least d) less

20.1 won't do the job ... being paid for it.

a) with c) without

b) out d) by



Variant 6
1. The passengers were tired because they ... all night.

a) didn't sleep c) don't sleep

b) hadn't slept d) won't sleep

2. Where is your umbrella? - Oh, it seems to me | ... it on the bus.

a) left c) had left

b) have left d) will leave

3. Bill said that he ... the tickets for the performance the day before.
a) had bought Cc) was buying

b) bought d) would buy

4. She said she didn't know where her friend ... .

a) is c) has been

b) was d) will be

5. When we reached the theatre, there ... any tickets left.

a) wasn't c) hadn't been

b) were not d) aren't

6. When | finally found the house and knocked at the door, I ... no answer.
a) heard c) didn't hear

b) have heard d) won't hear

7.1 don't know where Susan is. Maybe she ... in the garden reading a book.
a) sits C) was sitting

b) is sitting d) will be sitting

8. My brother ... when | use his computer without asking.

a) doesn't like c) don't like

b) didn't like d) like

9. You can have the book on Monday. I ... it by that time.

a) read ¢) will be reading

b) will read d) will have read

10. Unless we leave now, the film will have started when we ... there.
a) get c¢) would get

b) will get d) got

11. When we ... home last night we saw a lot of stars twinkling in the sky.
a) drove c) are driving

b) drive d) were driving

12. Many species of animals are threatened, and ... easily become extinct if
people do not make an effort to protect them.

a) can ) might

b) must d) have to

13. Last week we ... write an essay about the causes of the French Revolution.



a) must c) may

b) could d) had to

14.1 think the film was terrible! It was ... film | have ever seen.

a) terrible C) most terrible

b) more terrible d) the most terrible

15. Nobody in our group knows ... about England than Peter does.
a) much C) most

b) more d) the most

16. My mother wants me to play ... piano, but | want to buy a guitar.
a) the C) -

b) a d) mine

17. | had ... wonderful dream last night. I wish it would come true.
a) a C) -

b) the d) such

18. They say that in future the officials will demand a fine if ... breaks the law.
a) everyone C) someone

b) everybody d) all

19. When we arrived ... the station, we ate a sandwich, drank a cup of coffee and
waited for the train.

a)to c)in

b) at d) for

20. If the weather is fine tomorrow, I'll go ... a cycle ride.
a) at c) by

b) on d) for

Variant 7

I'm sure | ... the door of my house.

a) lock ¢) have locked

b) locked d) had locked

The inspector suspects that the thief ... a special key for opening this safe.
a) will use ¢) had used

b) has used d) use

3. When are you going to finish this translation? - I... it by tomorrow.

a) will finish c) will have finished

b) will be finishing d) would finish

4. Have you heard the news? | ... my last exam yesterday.
a) passed c) had passed

b) have passed d) was passing



flat.

5. He says that he doesn't know where he ... after graduating from university.

a) work ¢) had worked

b) will work d) would work

6. When you ... older, you will understand everything.
a) grow c) will grow

b) grows d) have grown

7. As a rule the most important news ... broadcast on this channel.
a) are C) is

b) were d) had been

8. There ... hardly any furniture in his room. He hasn't even a chair to sit on.
a) is C) were '

b) are d) have been

9. The rich collection of Hermitage regularly ... millions of people.

a) attract c) have attracted

b) attracts d) would attract

10. When my mother returns home she ... at once that we have redecorated our

a) will see C) has seen

b)sees d)saw

11. He ... the car for many hours before he came to the crossroads.
a) drives ¢) had been driving

b) was driving d) has driven

12. We ... along the forest road when it started raining.

a) were walking c) walked

b) had been walking d) had walked
13. Sorry, | ... stay any longer, but | really must go home.

a) mustn't C) cannot

b) couldn't d) may not

14. This is ... problem I've ever had in my life.
a) difficult c) most difficult

b) more difficult d) the most difficult

15. When ... "Titanic" was crossing the Atlantic she struck an iceberg.
a) - c) the

b) a d) an

16. The weather is fine today, but | don't like ... hot weather.
a) - c)a

b)the d) an

17. Some women tint their hair when ... goes grey.
a) they C) its



b) it d) them
18. Your news ... very important to us.

a) are c) aren't

b) is d) were

19.1 think it's important ... young people to get a good education.
a) for c) about

b) by d) among

20. They left ... Moscow some years ago and live there now.

a) to c) for

b) in d) at

Variant 8

1. Before | came to the office the manager already ... the documents.

a) signed C) was signing

b) had signed d) will sign

2. Peter ... his TV-set when | came to see him yesterday.
a) repaired C) was repairing

b) had been repairing  d) has repaired

3.1 hoped that my article ... in this magazine soon.

a) will be published c) would have been published
b) would be published  d) would publish

4. If you ... hard, you will enter the university.

a) work c) are working

b) will work d) have worked

5.1 ... him for three years. | wonder where he is.

a) didn't see c) don't

b) haven't seen d) hadn't

6. My mother ... in this school for twenty-five years.
a) is teaching ¢) has been teaching
b)taught d) teaches

7.1 want to post this letter, but I ... to go out in the rain.
a) don't want c) hadn't wanted

b) didn't want d) not want

8.1 need the car to get to the match. I ... on Sunday.
a) played c) have played

b) am playing d) have been playing

9. My neighbour used to be such a hard worker, but now he ... interest in
everything.



a) lose c) has lost

b)loses d) lost

10. I'm so sorry. The camera which you lend me ... .

a) break ¢) had been broken

b) broken d) has been broken

11. Yesterday | ... finish the work because | was very tired.
a) could C) can't

b) couldn't d) mustn't

12. Last week he said | ... use the car at the weekend but now he won't let me
after all.

a) can c) was able to

b) could d) must

13. I'm afraid | can't do it ... than you.

a) good C) best

b) better d) the best

14. Be quiet! | don't want to discuss the matter any ... .
a) more c) the most

b) most d) much more

15. ... people cannot live without water and air.
a) the c)a

b) - d) this

16. Before her marriage she lived in London, where she worked for ... National
Gallery.

a) - c)a

b)the d)that

17. Haven't you read ... by Shakespeare?

a) something ¢) nothing

b) anything d) none

18. Something is wrong with my umbrella. May | take ...?
a) yours C) her

b) your d) their

19. Have you ever been ... England?

a) in C) into

b) for d)to

20. Tom has had to give ... playing football since he broke his leg.
a) in C) at

b) on d) up



Variant 9

1. The Statue of Liberty ... by Gustave Eiffel.

a) design c) was designed

b) designed d) have been designed

2. Where are your brothers? - They ... a swimming-pool in our garden.
a) are digging c) were digging

b) dig d) have been digging

3. How do your parents like their new house? - My mother likes it, but my father
... our old one.

a) miss ) missed

b) misses d) doesn't miss 4.1 didn't believe that you ... short of
money.

a) are C) were

b) is d) have been

5. Actually it's a very friendly dog. If you ... it, it won't bite you.

a) won't touch ¢) didn't touch

b) haven't touched d) don't touch

6. The town of Kestwick, which ... at the heart of the Lake District, is the
perfect place for a holiday.

a) laid c) is lying

b) lies d) lay

7. We ... forward to a concert in our town. It is next Sunday.
a) looks c)are looking

b) looked d) were looking

8. The picture, which ... lately, is worth thousands of pounds.
a) damage c) has been damaged

b) damaged d) was damaged

9. The scientist who ... a new planet has won the Nobel Prize.
a) had discovered c) has been discovered

b) discovered d) was discovering

10. ... we have something to eat? - Yes, but not here.

a) will c) do

b) would d) shall

11. My mother always moves my books around so | ... find them.
a) can't c) wasn't able

b) couldn't d) may not

12.1 don't like the cafes that don't have chairs and people ... eat standing up.
a) can C) may



b) could d) have to
13. There is a big hotel in the middle of ... park.

a) a C) -

b) the d) these

14. ... towns which attract tourists are usually crowded in summer.
a) - c)a

b) the d) this

15. Be sure to pick ... tomatoes before they get too ripe.

a) this ¢) much

b)that d)these

16. | suppose people are spending now ... money than they used to.
a) much c) fewer

b) many d) more

17. Was it exciting buying a car? - Well, it was a bit of a problem because |
didn't have ... money to spend.

a) many C) most

b) much d) few

18. Once | hated flying, but now I feel ... nervous about it.
a) most c) less

b) least d) little

19. The trouble ... my father is that he never relaxes.

a) of c) about

b) with d) out

20. What did you buy this computer magazine ...? - To read about business
software.

a) at c) on
b) in d) for
Variant 10

1. All my money ... on the way to the airport yesterday and | couldn't fly

anywhere.
a) were stolen c) has been stolen
b) have been stolen d) was stolen

2. This company ... millions on computers but it doesn't seem to become more
efficient.

a) spent c) will spent

b) had spent d) has spent

3. We had to wait until the light ... to green.



a)change c)changes

b) will change d) changed

4. | head the news on the radio while I ... home yesterday evening.

a) drive ¢) had driven

b) was driving d) drove

5. Before | left the house it ... to rain and | had to take my umbrella.

a) started ¢) had started

b) would start d) start

6. | was surprised that you ... the football match on television.

a) hadn't watched c) don't watch

b) haven't watched d) aren't watching

7. When Columbus landed on San Salvador, he ... where he was.

a) knew c) doesn't know

b) didn't know d) hadn't known

8. At one time people believed that Columbus ... America.

a) discovers c) had been discovered

b) discovered d) had discovered

9. The talks ... in London next week to discuss some problems of terrorist
activity.

a) is held c¢) would be held

b) will be held d) hold

10. Didn't you ... this horror film last night? - No, | hate such films.

a) saw C) see

b) seen d)seeing

11. Who ... this ice-cream? - Oh, it's mine. I'm just going to eat it.

a) didn't eat c) doesn't eat

b) don't eat d) hasn't eaten

12. The new building looks awful. - I agree. It ... very nice.

a) didn't look c) hasn't looked

b) doesn't look d) won't look

13. "You ... spend your free time on playing football”, my mother used to say
when | was a schoolboy.

a) needn't c) couldn't

b) mustn't d) can't

14. You needn't wear your best clothes. You ... what you like.
a) can wear ) might wear

b) must wear d) need wear

15. I think ... people look after their cars better than young people.
a) elderly c) elder



b) older d) oldest

16. What are you going to do after you finish ... college, Rachel? — | want to
travel.

a) - c)a

b)the d) an

17. There's been a lot of talk about ... 'spaceship' seen over our town on Sunday
night.

a) - c)a

b)the d) an

18. ... Is a new one-way traffic system in the city center. It's very confusing.

a) this c) it

b)that d)there

19. ... of these magazines would you like? - This one, please.

a) what c) why

b) how much d) which

20. They will come ... the three o'clock train.

a) on c) with

b) at d) by



Variant 1
1. Nick said that he ... up smoking the week before.

a) gave C) was giving

b) had given d) would give

2. Thanks for your letter. Your news ... very interesting.

a) was c) will be

b) were d) have been

3. | wanted to buy a new ring but I ... my credit card at home.
a) left c) had left

b) leave d) have left

4. My father ... more than my mother for the same work.

a) pays C) is paid

b) paid d) is being paid

5. The company ... some land, but it's going to sell it.

a) has bought c) will buy

b) had bought d) buys

6. | rang my friend in London yesterday and he said it ... heavily there.
a) is raining ¢) has been raining

b) was raining d) had been raining

7. No one told me that the goods ... the week before.

a) would arrive ¢) had arrived

b) arrived d) was arriving

8. A number of attempts ... to find the Loch Ness monster lately.
a) have been made c) made

b) were made d) will make

9. He ... this trip for months. He is leaving on Sunday.

a) plans ¢) has planned

b) is planning d) has been planned

10. If you ... the music too loud, you'll wake up the neighbours.
a) will play c) have played

b) play d) played

11. You ... spend all your money as soon as you've earned it.

a) can't c) couldn't

b) mustn't d) shouldn't

12. This cheque ... be signed only by the manager of your company.
a) can C) have to

b) may d) must

13. Your new car looks very ..., | must say.

a) nicely c) beautifully



b) nice d) strangely
14. The book was ... than the film | saw last week.

a) exciting c) the most exciting

b) most exciting d) more exciting

15. How ... does this dress cost? — I don't know. It's a present.
a) many C) money

b) much d) a lof

16. You can apply for a ... job when you've had more experience.
a) best C) worse

b) better d) worst

17. People don't know what ... future will be.

a) the c)a

b) - d) these

18.1 went to ... British Museum several times when | was in London.
a) the c)a

b) - d) that

19. There is a problem ... our TV-set, it breaks very quickly.

a) at C) over

b) on d) with

20. Don't worry ... your job prospects. Everything will be all
right.

a) with c) about

b) for d) over

Variant 2

1. My sister ... interested in medicine ever since she was a

child.

a) is c) has been

b) was d) will be

2. When | started working for this company, | ... an architect for six years
already.

a) has been C) was

b) had been d) have been

3. I'll take the decision after I ... to the manager.

a)speak c) has spoken

b) will speak d) spoke

4. Look! That window just ... again!
a) has broken c) has been broken



b) broke d) break
5. This cafe used to be much ... before they opened the new one next door.

a) popular ¢) most popular

b) more popular d) the most popular

6. My company has treated me well, and given me ... chance to succeed.
a) every c)each

b) all d) either

7. There may be no need to go to school in the future, since everyone will have a
computer ... home.

a) - c)in

b) at d) for

8. The pilot ... land the plane on only one engine.

a) could C) must

b) was able to d) need

9. ... marriages end in divorce these days.

a) many c) few

b) much d) a few

10. You have to learn to accept ... ups and downs of life.

a) the c)a

b) - d) this

11. Belarus has always been rich in ... talented and gifted people.
a) an c) the

b) a d) -

12. Where ... my scissors? | can't find them.

a) is C) was

b) are d) has been

13. | don't believe in ghosts, so I'm not afraid ... them of course.
a) of ) in

b) at d) -

14. The two Prime Ministers ... discuss the current economic crisis tomorrow.
a) can C) has to

b) may d) are to

15.1 think he was lonely because he had ... friends and none of his neighbours
ever spoke to him.

a) few C) many

b) a few d) much

16. The journey to Paris had taken much ... before they built the Channel
Tunnel.

a) longer c) long



b) the longest d) longest
17. A small sum of money ... from the cash some days ago and nobody knows
who did it.

a) steal c) is stolen

b) stole d) was stolen

18. Man ... first in East Africa.

a) is discovered c) discover

b) discovered d) was discovered
19. Why are you so dirty? - I ... in the garden.
a) dig c) was digging

b) dug d) have been digging
20. Next summer we ... here for 20 years.

a) will live c) will be living

b) will have been living d) are living
Variant 3

1. What are you looking for? - I'm afraid I ... my key.

a) lose c) losing

b) lost d) have lost

2. She took this decision after she ... to the manager.

a) spoke ¢) had spoken

b) was speaking d) would speak

3. | ... nervous since morning, but this feeling vanished as soon as | saw her.
a) was feeling c) feel

b) have been feeling d) had been feeling
4. The second prize ... to an unknown author from India at yesterday's
celebration.

a) awarded ¢) will be awarded

b) was awarded d) is awarded

5. I'm going to see ... of this city.

a) the sight c) a sight

b) the sights d) sight

6. ... teachers have complained about his behaviour at school.
a) much C) some

b) the most d) any

7. It would be difficult to imagine life without ... telephone.

a) - c) an

b) a d) the



8. Nobody nowadays thinks that women ... just stay at home and look after the
children.

a) are to ) might

b) has to d) should

9. When | was a teenager, | argued ... my brother and sister all the time.
a) at c) on

b) with d) by

10. I think that we are not making as ... profit as we should do.

a) much c) little

b) many d) few

11. "I ... a convincing explanation of your absence yet", the teacher said.
a) not hear c) haven't heard

b) don't hear d) hasn't heard

12. She thinks she ... more forgetful as she grows older.

a) get ¢) would get

b) gets d) is getting

13. This is the first time I ... late for my English lesson.

a) am c) has been

b) was d) have been

14. It seems that they already ... everything without consulting us.
a) have decided c) decided

b) had decided d) decide

15.1 don't think you ... to show your passport there.

a) ask c) will be asked

b) will ask d) asking

16. Happiness is not ... inevitable result of having money.

a) - c) the

b)a d) an

17.1 am afraid there are ... vacancies in the company at present.
a) not C) neither

b) none d) no

18.1 ... give you permission for going there, I'm afraid.

a) doesn't have to ) might

b) can't d) am not to

19. The tourists were not aware ... the danger of bandits in the hills.
a) in c) under

b) of d) during

20. She has ... smile I have ever seen. That's what attracts people to her.
a) beautiful c) the most beautiful



b) more beautiful d) less beautiful
Variant 4

1. He ... for several hours and needed a rest.

a) was driving c) had been driving

b) drove d) had driven

2. Somebody is at the door. - I ... to see who it is.

a) go c) will be going

b) will go d) will have gone

3. The boy is going to be a scientist when he ... up.

a) grow c) will grow

b) grows d) will have grown

4. By the time she qualifies, she ... law for 5 years.

a) will study c) will have been studying

b) will be studying d) study

5. This old house on the corner ... down in two weeks.

a) will knock c¢) will have been knocked

b) will be knocked d) knocked

6. It was a film about ... life of a polar explorer.

a) - ) an

b)a d) the

7. They met in May and it was then ... he fell in love with her.

a)that c)there

b) than d)this

8. 1 don't agree that the unemployed ... receive more help from the state.

a)can c)should

b) may d) has to

9. Being a nurse is not as ... as being a doctor.

a) more interesting c) less interesting

b) interesting d) most interesting 10. We arrived ... England at
Gatwick Airport.

a) to c) in

b) for d) at

11. Don't worry, the sun ... our clothes by the time we get home.

a) will dry c) will be drying

b) will have dried d) dry

12. Traditional English afternoon tea ... rare nowadays, although the English are
ready for a cup of tea at any time of the day.



a) is c) has been

b) was d) will be

13. My father who ... recently spends all day reading the newspapers.
a) retired C) retires

b) has retired d) will retire

14. Much that has just been said ... soon.

a) forget c) will have been forgotten

b) will forget d) will be forgotten

15. There ... interesting news in today's newspaper.

a) are c) have been

b) is d) were

16.1 saw two films yesterday, but I didn't like ... of them.
a) neither C) none

b) no d) either

17. The judge sent him to ... prison for ten years.

a) - c) the

b) a d) an

18. ... you tell me if this bus goes to Heathrow Airport?
a) must c) may

b) should d)could

19. Last year | stayed for a few days in an old house in Scotland which was
famous ... its ghosts.

a) by c)about

b) at d) for

20. Your car costs ... than mine but it is more beautiful.
a) little c) the least

b) less d) fewer

Variant 5

1. ... you still ... or have you found a job already?

a) are studied ¢) have studied

b) are studying d) have been studying

2. Any advice that the Queen may offer the Prime Minister ... secret.
a) keep c) is kept

b) are kept d) was kept

3. Members of British Parliament ... salaries since 1911.
a) paid c) are paid

b) have been paid d) were paid



4. | decided to change from central London to the suburbs because it ... so
expensive to live there.

a) become c) will become

b) have become d) has become

5. The teacher asked her pupils where they ... to spend their holidays.

a) are going c) will be going

b) were going d) have been going

6. As you can see from the letter I ... my address and live in Oxford now.
a)change ¢) have changed

b) changed d) had changed

7. This time next week | ... on the beach in Spain.

a) lie c) will be lying

b) will lie d) will have been lying

8. Living in the country is ... than in a big city.

a) less expensive c) the least expensive

b) most expensive d) expensive

9.1 would like to meet ... you and thank you for your help.

a) with C) by

b) at d) -

10. Every time | go to the supermarket I ask ... why | go shopping so often.
a) my C) mine

b) myself d) they

11. It rains every day. If you ... the television with you, you will have nothing to
do there.

a) not to take c) won't take

b) don't take d) aren't taken

12. The British Queen is certainly one of ... women in the world.
a) rich c) the richest

b) richer d) not rich

13. In 1979 Margaret Thatcher became ... first woman Prime Minister, yet she
never appointed a woman in her Cabinet.

a) - c)a

b) the d) an

14. A passer-by asked if it ... the right road for Hastings.

a) is C) has been

b) was d) will be

15. Excuse me, ... | borrow your newspaper, if you are not reading it?
a) must C) might

b)can d)should



16. Bill said that he ... for me outside when | got to the station.

a) will be waiting C) is waiting

b) would be waiting d) waits

17.1 need some time to think about ... offer you made me.
a) - c)a

b) the d) an

18. We can't go by train. The train-drivers are ... strike.
a)on c)for

b) in d) at

19.1 think that he was lonely because he had few friends and ... of his
neighbours ever spoke to him.

a) neither C) none

b) either d) no

20. After oil ... under the sea near the Welsh Coast, Britain has become self-
sufficient in this energy source.

a) discovered c) will be discovered
b) was discovered d) is discovered
Variant 6

1. There is a problem when you forget where dreams end and ... real world

begins.
a) - c) the
b) a d) an
2. Do you often put ... until tomorrow what you could do today?
a) of c) down
b) on d) off
3. lIs it important to you to succeed ... your career?
a) at c) for
b) in d) because of
4. My mother passed her driving test yesterday. She ... to drive for two years.
a) learn ¢) has been learning
b) was learning d) had been learning

5. Pubs are often ... places to eat well and cheaply in Britain, and they also try to
serve tasty British food.

a) well C) the best
b) better d) most
6. ... we recommend you our favourite places to eat in Minsk? - It's very kind

of you.
a) Must ¢) Ought



b) Can d) May

7. They say that ... British eat only traditional British food in their homes.

a) - c) the

b) a d) an

8. Surely food is as ... a part of our culture as our landscape, our language, and
our literature.

a) many c) the most

b) more d) much

9. From the time of ... Roman invasion foreign trade was a major influence on
British cooking.

a) - c)a

b)the d) an

10. English kitchens, like the English language, absorbed ... ingredients from all
over the world - chickens, rabbits, apples, and tea.

a) the c)a

b) - d) an

11. The British always ... food from abroad.
a) import c) have imported
b) has imported d) imported

12. We live in a global village, but how ... do we know and understand each
other?

a) good C) best

b) better d) well

13. In the Middle East you ... take care not to admire anything in your hosts'
home. They will feel that they have to give it to you.

a) must c) should

b) can d)could

14. You should not expect the Japanese to shake ... . Bowing the head is a mark
of respect in Japan.

a) hand c) ahand

b) hands d) the hands

15. In Japan the first bow of the day should be ... than when you meet thereafter.
a) low c) lowest

b) the lowest d) much lower

16. We ... for three hours when we saw the house in the distance.

a) drive c) drove

b) were driving d) had been driving

17. When they got outside, the rain ... already to snow.
a) turn c) has turned



b) had turned d) would turn

18. Agatha Christie ... at home. She didn't go to school.

a) has educated ¢) had educated

b) had been educated d) was educated

19. Agatha Christie is possibly the world's most famous ... writer.

a) historical c) detective story

b) short story d) criminal story

20. Pablo Picasso didn't like going to school unless he was allowed to take one
of his ... pigeons with him.

a) father's c) fathers
b) fathers' d) father
Variant 7

1. What is the world's biggest office? - | think ... Pentagon is the largest office in
the world.

a) - c)a

b) the d) an

2. They ... across a field when they were attacked by a bull.
a) walked ¢) had been walking

b) have been walking d) were walking
3. He ... for a job for months, but he could find nothing.

a) looked ¢) had been looking

b) was looking d) has been looking

4. John felt tired. He ... all day to prepare for the party.
a) worked c) was working

b) had been working d) has been working

5. ... of the guests have arrived yet.

a) None c) Either

b) Neither d) Somebody

6. ... people go to the cinema these days. They prefer to see films at home.
a) Fewer c) Little

b) Less d) The least

7. ... policeman in the country is looking for the killer.
a) Each : c) Everybody

b) Every d) All

8. What | like about London is the fact ... it never sleeps.
a) that c)then

b) than d)because



9. | found it difficult to get around London when | first came, but I ... to it now.

a) used C) use

b) am used d) have used

10. Born in Holland in 1853, Vincent Van Gogh is one of the world's most
famous ... .

a) writers C) painters

b) poets d) musicians

11. There aren't many people at the stadium now, ... ?

a) are they c) are there

b) aren't there d) aren't they

12. She works harder than I ... to work at her age.

a) used c) was used

b) am used d) had used

13. ..., whose real name was William Sydney Porter, was an American short
story writer.

a) J. London c) 0. Henry

b) E. Hemingway d) G. B. Shaw

14. The greatest English playwright and poet William Shakespeare was
buried in ... .
a) Stratford-on-Avon  ¢) Westminster Abbey

b) London d) Poet's Corner

15. If you ... in a warmer climate, you won't get so many
colds.

a) live ¢) have lived

b) will live d) will be living

16. He told her not to eat it, explaining that there ... a risk of food poisoning.
a) is c) will be

b) was d) has been

17. What is the antonym to the word "small™?

a) tiny c) large

b) poor d) little

18. She said to me, "I saw this film yesterday".

a) She said that | had seen that film the day before.
b) She said that she saw this film the day before.

c) She said that she had seen this film yesterday.

d) She told me she had seen the film the day before.
19. I'm sorry, I'm late.

a) Don't mention it. c) That's OK.

b) Not at all. d) Here it is.



20. Where have you been? Your clothes ... wet and dirty.

a) are c) has been

b) is d) will be

Variant 8

1. The first person who ... chocolate to Europe was Cortes, who was an explorer.
a) brings c) brought

b) has brought d) had brought

2. It isn't clear how far the ozone layer ... by aerosol sprays.

a) is damaged c) was damaged

b) has been damaged d) damaged
3. The rich should pay ... tax than the poor.

a) more c) least

b) less d) most

4. My brother ... interested in medicine since he was a child.

a) is c) has been

b) was d) had been

5. We arrived ... England at Gatwick Airport at 9 o'clock yesterday.
a) to C) at

b)in d)for

6. This cafe used to be much ... before they opened the new one next door.
a) popular ¢) most popular

b) more popular d) the most popular

7. Next May they ... with this team for ten years.

a) will play c) will be playing

b) will have played d) will have been playing

8. Don't start reading the other books until you ... this one.

a) have finished c¢) will finish

b) finishes d) will have finished

9. Belarus has always been rich in ... talented and gifted people.

a) the C) -

b) a d) an

10. A small sum of money ... from the cash today, and nobody knows who has
done it.

a) steal C) was stolen

b) has stolen d) has been stolen

11. Jane (recover) yet? No, she still (be) in hospital.

12. If he goes (on, by) car, I'll join him.

13. How (much, many) does this coat cost?

14. Would you like (a, the, —) glass of milk?



15. He (live) in Spain when he was a child.

16. Alice (not, go) to work by bus, she lives near her office.
17. What you (do) when Ben phoned?

18. They (move) into their new flat yet?

19. Do you know what they (discuss) now?

20. The problem was (serious) than we expected.

Variant 9

. My friend didn't make (some, any) mistakes in his test.

. What (a, the, -) boring film! It's the most boring film I ever (see).
. I'll be surprised if you (pass) your exams successfully.

. Look! The bus (be) completely empty. There (be) nobody on it.

. Nancy (look) like her father.

. If you take the medicine, you (feel) better.

. Linda (wait) for the bus when | saw her.

. This car is expensive to run. It uses (much, many) petrol.

. How long you (know) him?

. Excuse me, I (look) for a phone box. Is there any around here?
. When you (return) home, you will see a lot of changes.

. What you (do) when your mother called you?

13. They (speak) only English in class.

14. There are (many, a lot, few) of tourists visiting our town in summer.
15. We need money for the bus. How (many, much) have we got?
16. A big car (use) a lot of petrol.

17. 1 was very surprised when | (meet) him there.

18. What time do you come (to, at, in, -) home from school?

19. | closed the door quietly because he (try) to sleep.

20. | thought the film (be) a big success
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Variant 10

1. We've been invited (for, from, to) a wedding.

2. He often visits his parents on (-, a, the) Sundays.
3. Students often (think) that exams are a nuisance.
4. When the water (boil), turn off the gas, will you?
5. Ann (not, recover) yet. She is still in hospital.

6. When they (get married)? - Last year.

7. 1t still (rain).



8. - Who told you about it? - A friend of (mine, my).
9. She is (good) secretary that has ever worked here.
10. We (arrive) ten minutes ago.

11. You (read) any of Shakespeare's plays?

12. Somebody (use) my computer at the moment.
13. They (ask) me some questions at the yesterday's interview.
14. She told me that you (be) ill.

15. It costs (many, much) to repair a car.

16. I know (nothing, anything) about Economics.
17. As soon as | (hear) the results, I'll let you know.
18. Where is Stella? - She (play) tennis in the park.
19. Cats (not, like) water.

20. | didn't understand what she (mean) at first.

V cemecTp
Variant 1

1.Translate the words given in the box into English:

pa6OTOI[aT€JII:, HpI/I6I>IJII>, CymcCTBOBATb, AKIIUOHCD, OTBGTCTBGHHBIP'I,
IIPpU3HAaBAaTh, COIICPHHUYATDh, MpcaoCTaBIIATh pa60Ty, O,Z[O6peHI/I€, I103BOJIATH,
pearupoBars.

Fill in the blanks with the appropriate word and translate the sentences.

1. We were waiting for ... for our project. 2. He sold his house ata ... . 3. You
should talk to the ..., if you want to get a job. 4. Jim ... with the world's best runners
in the Games, and did well to come third. 5. He ... that he was not qualified for the
post. 6. According to statistics, young drivers are ... for about two-thirds of all
accidents. 7. The doctor will not ... Mother up until her leg is better. 8. She ... to the
news by bursting into tears. 9. We cannot ... without oxygen. 10. A person who owns
stock in a company and is eligible to share in profits and lossesisa ... . 11. She ... as a
teacher.

2. Match the word combinations on the left with their translation on the right.

1.  toissue (bonds, stock) a)  momyYuTh MOAAEPHKKY OT KOTO-JINOO
2. tomake up losses b)  npuHHUMATH 3aKOH

3.  to operate for profit C)  ycTaHaBJIWBAaTh CTaHJIAPT

4.  topassalaw d)  BeImyckath (OOIHMraIuu, aKIHH)

5. toperformafunction e) mnpeanuchIBaTh YCTAHOBJICHHE CTaHIAPTa
(0 3akoHE)



to prescribe a standard f) paboTaTh C 1EIbI0 U3BJICUCHUS TPHOBLIN
to produce services g)  CTaJKUBAThCS C TPYAHOCTSIMHU

to receive support (from)h)  kommeHcHpOBaTh MOTEPHU

to run into difficulties 1) OKa3bIBaTh YCIYTH

10. tosetastandard j) BBITIOTHATH (PYHKIIHIO

3. From the adjectives listed below form the nouns with the suffix -(i)ty and
translate them into Russian.

able, reliable, safe, commune, active, compatible, difficult, major,

secure (2), stable, visible, profitable, possible, integral, responsible.

Fill in the blanks with the appropriate noun and translate the sentences. The first
one is done for you.

1. Each man will be paid according to his ability. 2. All planes were landed
because of poor .... 3. Supplying necessary equipment for the test was the ... of
laboratory assistants. 4. The main problem is the project’s low economic .... 5.
Before installing this equipment you had to do a ... test. 6. He has enough ... to cope
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with the job. 7. Railway track must be regularly maintained to provide ... and ... of
train movement. 8. Police, fire and emergency medical services are using modern
communications to provide public ... in the .... 9. Business ... was paralyzed because
of blackout. 10. ... rule is a political principle providing that a ... of an organized
group shall have the power to make decisions obligatory for the whole group.  11.
The true function of the root is to give ... to the tree. 12. There's a strong ... that the
concert will be canceled. 13. He is in serious .... 14. Nowadays information ... is
problem number one for many businesses. 15. Computer ... specialists help protect the
... of the huge information banks being developed by businesses and the government.

Variant 2

1.Translate the following sentences from English into Russian paying attention
to the underlined adverbs.

1. Bulk cargo generally consists of goods that are of low value in proportion to
their weight. 2. Bulk goods can be conveniently taken on and off by means of gravity,
suction, conveyor belts, pipes, etc. 3. Dry bulk goods are often moved in specially
designed containers. 4. In autumn the grain from the fields is handled more efficiently
by trucks, therefore highway trucking organization become very important. 5. General
cargo usually consists of goods that have a high value in proportion to its weight. 6.
General cargo transporting is less easily mechanized. 7. Commonly dry goods are not
packaged in bags or bales. 8. Sugar is increasingly being transported in bulk. 9. A
truck can be driven directly to a destination area. 10. Earlier there were more than
20,000 daily intercity passenger trains in the United States.



2. Read the text replacing the Russian words with their English equivalents.

Metroliner was a (ckopsrii moe3n) operated by the major national train company
in the USA, known as Amtrak. The line was opened for (msmxenue) in 1969. It
(neiictBoBath) between New-York and Washington and (oGciyskuBats) many cities,
towns and rural areas up to 2006. The train consisted of six (moTopBaronsr) and was
capable to (paszBuBatp) the speed of 265kmh. (Mapmpyt) passed through Baltimore,
Wilmington, Philadelphia. A (moesnka) between New York's Pennsylvania Station and
Washington, D.C.'s Union Station took approximately 3 hours.

3. The verb to handle can be used with different nouns, hence a variety of its
meanings. Try to guess the meanings of this verb and translate the sentences.

1. Finland has been handling rail transportation to Russia for over 50 years. 2.
Finnish rail transportation and forwarding companies have decades of experience in
handling business between East and West. 3. Modern load handling equipment ensures
the rapid transit of cargo from port to train. 4. This mainline handles more than 30
million gross tones a year and 20 passenger trains a day. 5. This kind of cargo can be
handled by truck. 6. Sugar formerly handled only in bags. 7. I don't know if | can
handle the job. 8. Don’t you see the warning on the box with china — “Handle with
care! “ 9. She handles the horse very easily. 10. The lawyer handles all my affairs. 11.
The chief information officer (CIO) of a company is responsible for handling
information security problems of an entire corporation. 12. 5. The finance department
handles all the accounts. 13. A special licence is required for the manufacture or
handling of any dangerous chemical. 14. The President has been much criticized for
his handling of the crisis. 15. A dispatcher handles the flow of information, people,
and equipment from a centralized headquarters.

Variant 3

1. The suffix -able/-ible is used to form adjectives from nouns and verbs:
comfortable, suitable, flexible. Quite often, -able/-ible is equal to can be done. For
example: stackable, reliable, washable.

A. Add the suffix-able/-ible to the verbs given in the box. Consult a dictionary if
necessary. Translate the adjectives into Russian.

suit vary charge avail maneuvre predict value demount convert
interchange access

B. Fill in the blanks with the appropriate adjectives. Translate the sentences.
1. The snow had a ... effect on traffic.
2. Computers should be made readily ... to teachers and pupils.



3. This knowledge may be ... from studying similar types of operation that
are undertaken by other companies.

4.  This is the ... box van or body, which is used in a similar way to a
standard container.

5. Advice will be given as a ... service.

6. All ... loads represent some sort of security risk.

7. When there is a mixed load of light and heavy goods, it can be much
worse because of the ... spread of the load within the vehicle.

8. If a vehicle is ..., it can be moved or turned easily.

9. This camera has ... lenses.

10. An object that is ... can be arranged in a different way so that it can be
used as something else.

11. Some transport modes are more ... to certain types Of operational
requirements than are others.

2. There are some rules of saying fractions and decimals in English, for
example:

Y5 — one third

% — two thirds

3 % —three and seven 1.1 — one point one

0.002 — zero point two zeros two

3.576 — three point five seven six

A. Read fractions and decimals.
] 2/5 ] 5/18 [ 72/7 [] 95/7 [] 158/9

[ 0.23 [J 0.009 (] 10.01 [J 205.35 N 79.31 [
0.0003

B. Match the numbers with the way they are read.

A B

1. 240 a) two hundred and sixty-five thousand

2. 2,750Db)  two thousand seven hundred and fifty

3 265,000 c¢) two billion

4 2,500,000 d) two hundred and forty

5 2,000,000,000 e)  two million, five hundred thousand



C. Match the numbers with the way they are read. Practice reading these

numbers.
A
1.
2.
3.

B

50% a)  four point six percent
2% b)  one point two three
25 c¢)  two point five

4.6% d)  two thirds

1/4

e) two and a half

1.23 1) three quarters

%a
4,

g) aquarter
% h)  fifty percent

3. Use Past Participle of the italicized verbs to form word combinations.
Model: ... politicians (to shock) — shocked politicians — mnoauTuku B

COCTOSHHH IIIOKAa

1.  watches (to repair)

2.  containers (to seal)

3. designs (to patent)

4. steel (to corrugate)

5. boxcars (to close)

6.  service (to limit) 7.  container boxes (to design) for movement
8. vehicles (to load) on flatcars

Q. iron boxes (to stack) on transport ships
10. units (to construct) from thick steel

11. companies (to carry) railroad boxcars
12. load (to transfer) to trucks

Variant 4

1. You don’t find it difficult to translate noun phrases like railway transport or
freight car. But how about logistics management or sales department?

Here is a model to help you:

lay-out diagram: xmroueBoe cioBo diagram (cxema), ompenesieHue lay-out

(pacnosioxeHue)
— lay-out diagram — cxema pacroJioKeHus;

wage rise: KJIF0UeBOe CJIOBO rise (MOBBIIICHUE), OTIPEIeICHIe wage (3apruiara)

— wage rise — MOBBIIICHUE 3aPIUIATHI,



A. Translate the following noun phrases into Russian:

transit responsibility; joint venture; sea vessel; transport legislation; shipping
documents; destination country; key objective; logistics management; handling
vehicle; container transport; distribution company; freight service; freight traffic;
height and width dimensions; standard dimensions; standard length; road wheels; road
vehicle;.

B. Translate the sentences into Russian paying attention to noun phrases.

1. These are specific elements that may influence the choice of transport mode.
2. There are some important characteristics that need to be considered when
determining modal choice concerns the other logistics components. 3. Many freight
trains have to fit their schedules around passenger trains, which take priority. 4.
Railway companies need to develop intermodal systems to offer flexibility and cost
advantages comparable to road freight transport and container services. 5. The ability
to move freight swiftly and safely aids the logistics process. 6. The roll-on roll-off
ferry is a sea vessel designed to carry road vehicles. 7. Various distances are cited by
railway economists for the point at which movements by rail become profitable. 8.
The motor vehicle is a mechanically propelled vehicle intended for use on roads. 9. If a
vehicle is driven by petrol or diesel, by gas turbine, by electric battery or by steam
generation, it is classified as a motor vehicle. 10. There are two major vehicle
classifications used for UK transport legislation. 11. Goods vehicles are required to
undertake a wide variety of jobs. 12. With the new levels of vehicle technology, it
is becoming increasingly difficult for own maintenance facilities to justify the
investment in the necessary equipment needed to maintain these modern vehicles.

2. Match the words and phrases in column A with their definitions in column B.

A B

1. bimodal semi-trailer a) a non-road going vehicle for use in port
terminals and intermodal yards used for stacking and moving I1SO standard containers

2. abogie b)  astandard freight container for road and rail transport

3. high-cube container c)  aspecialized type of container designed to
carry bulk liquids or gases

4.  kingpin d) a type of railroad car specially designed to carry
intermodal containers

5. overhead straddle crane e)  a road semi-trailer that can be converted
into a rail wagon by the addition of rail bogies



6. semi-trailer f) the nipple at the front of a semi-trailer to connect to a
fifth wheel coupling

7.  spinerail wagon @) an undercarriage with four or six wheels pivoted
beneath the end of a railroad car

8. tanktainer h)  a trailer having wheels at the back but supported at the
front by a towing vehicle

Q. swap-body 1) a container of standard ISO length and width but with a
height 0of 9°6" (2.9 m)

10. awellcar ) a rail wagon with a central chassis designed to carry a
semi-trailer

3. Mind the difference between prepositions before — panbmie, 1o; after — mocie,
3a, ciycts and conjunctions before — mpesxne gem, 10 Toro kak; after — mocie Toro
kak. Fill in the blanks with either before or after and translate the sentences.

1. What are you going to do 4 you graduate from the University? 2. Make sure
you check the oil and tyres 4 setting out on a long journey. 3. 4 half an hour we got
tired of waiting and went home. 4. She’s never been up in a plane ¢ and she’s feeling
very nervous. 5. 4 the cars are checked and the brakes tested, the train departs. 6. 4 the
law was passed the railroads have got more freedom to compete with other types of
transportation. 7. ¢ 1980s, the use of classification yards was widely applied all over
the USA. 8. Get out of here ¢ I call the police.

Variant 5
1. Match the beginnings of the sentences with their endings.

1. Trains arriving at the terminal are called incoming trains; trains leaving
the station are called ... a)  and then reassembled (rebuilt) into outbound trains.

2.  Incoming trains are uncoupled and then ... b)  are assembled in the
departure yard.

3. Trains first enter the arrival yard and ... c)  outbound trains.

4. At marshaling yards incoming trains are brokenup ... d)

destination.

5. Many trains that carry bulk cargo travel directly from originto ... )

they are assembled into new trains.

Have a look at the sentences and pick out 6 pairs of antonyms and 3 pairs of
synonyms. Translate these words and memorize their meanings



2. Mind the difference between conjunction because — moromy uro and
preposition because of — u3-3a. Transform the following sentences using because of.
Be careful about Grammar!

Model: He couldn’t play because he had an injured shoulder. —

He couldn’t play because of his injured shoulder.

I couldn’t speak with my boyfriend in private because he was late for the party.

— I couldn’t speak with my boyfriend in private because of his being late for the

party.

1. Mary failed to get the job because she was late for the interview. 2. The
weather was terrible, so we couldn’t eat outside. 3. She had to stay at home because
she had a broken ankle. 4. The light was very bad, so the referee had to stop the
game. 5. The flowers died because it was dry. 6. Some people find English difficult
because it is not easy to pronounce the words. 7. The traffic was very heavy. |
couldn’t reach the destination in time. 8. We have lost a lot of business because you
are incompetent. 9. General cargo transporting is less easily mechanized because it has
a great variety of shapes, sizes, and weights. 10. The pressure of competition from
other forms of transportation was high, so classification yards began to lose their
importance. 11. The development of supersonic aircraft has been prevented because it
creates a lot of noise while in flight.

3. Translate the following sentences into Russian paying attention to -ing forms.

1. Russian trains run on 76 direct international lines linking Moscow with Paris,
Berne, Rome, Berlin and so on. 2. In fact Moscow monorail is the slowest and the
most expensive project so it is being used exclusively for tours. 3. Railway transport is
one of the cheapest ways of hauling freight over long distances. 4. They have been
examining goods before loading. 5. British Rail offers different discounts to certain
groups of travelers, enabling them to travel at half-price. 6. The main advantages of
electric locos are high speed of running and clean operation. 7. While making the
experiments in the laboratory of Cambridge University Newton discovered the law of
inertia. 8. Indian Railways has designed and built a prototype double-deck car having
seats for 148 passengers. 9. While laying down railway track builders use many
machines making man’s labor easier. 10. Toronto plans to spend $C1.66 billion for
expanding the metro and buying new cars. 11. On many US railroads handling freight
traffic trains become longer and less frequent. 12. The leading role of the railway
transport in Russia is explained by specific territorial, climatic and geographical
conditions. 13. The trains operating on underground lines are provided with low
voltage direct current. 14. When constructing the railway, it is cheaper to use local
materials. 15. Freight trains consisting of more than 80 cars are hauled by two



locomotives. 16. The experience of introducing the monorail in other countries proved
that it works mostly as a fast connection for some specific routes, but is not a feasible
way of transporting a million passengers daily. 17. One of the very fast railways in the
USA was 3 miles in length and used horses for pulling wagons.

Variant 6

1. Choose the right word and translate the sentences into Russian.

1. Copper / gold conducts electricity well.

2. I couldn’t use my computer because we were without electricity / gas
yesterday.

3. Thedriver lost control on a curve and the vehicle / wheel hit a tree.

4.  After the 1973 coal / oil crisis and the rise in fuel / tram costs, gas turbine
locomotives became uneconomic to operate.

5. Cars can be coupled together into a train and hauled / pushed by one or
more locomotives.

6. A street car / helicopter is a railway vehicle of lighter weight than a train
designed for the transport of goods / passengers.

7. Freight steam locomotives usually had diesel tractions / driving wheels
between 1,000 and 1,500 mm in diameter; passenger locomotives - between 1,800 and
2,500 mm.

8.  The engines are driven by steam / source.

Q. The materials used to create renewable energy sources may generate /
transmit pollution.

10. He tried to convert / push the heavy door open.

11. Static / dynamic electricity is electricity that collects on the surface of an
object and gives you a small electric / electronic shock.

12.  This vehicle is licensed / listened to carry 4 persons.

2. Replace Russian words with their English equivalents and translate the
sentences.

1.  I’ve paid my snektpudectBo, gas and telephone bills.

2. One day nuclear energy may replace medts as the main rorutuso.

3. In Britain the difference between petrol and diesel Tomuso prices has
always been small.

4.  To BeipabateiBath the energy for making new products more fuels should
be burned.

5. Who invented the map engine?

6.  IlomBwkHoii cocraB IS the term that describes all the TpancmoprtHbie
cpezactaa that move on a railway.



7. In the 1980s the world’s largest TpamBaii system was in Leningrad, the
USSR; it was included in Guinness World Records.

8.  Tsarosoe ycuaue is the type of power needed to make a TpaHcmopTHOE
CpeacTBO MOVe, or to TsauyTh a heavy load.

9.  The first trains were hauled by steam okoMOTHBEI.

10. Rolling stock comprises all the vehicles that neurarecs on a railway. It
usually includes locomotives, railroad cars, naccaxxupckue Baronst and freight cars.

3. Match the English terms in column A with their Russian equivalents in
column B.

A B
freight carrier a)  sHeprocOeperarImii
crew costs b)  Oynka (kabmHa) MalTMHKUCTA
braking system C)  oTHenHTh JTIOKOMOTHB
ease of maintenance d)  coemmHUTENBHOE YCTPOKMCTBO, CIICTIKA
replacement of motive power e)  pabGoTaTh HaJeKHO
steep grade f) CHCTEMa TOPMOKCHHUS
energy efficient g)  rpy3omnepeBo3uuK

8.  touncouple the locomotive  h)  3arparsr Ha coJiepKaHue
JIOKOMOTHUBHOW OpHTrajibl

No ok whRE

9. cab 1) MPOCTOTA B IKCILTyaTalluu

10. to operate safely ) KpPYTOH YKIIOH (ITOIbEM)
11.  coupler K)  3ameHa JIOKOMOTHBA

Variant 7

1. Choose the right alternative to complete the sentences.
1. Diesel locos are not as polluting as steam locomotives; they are healthier
forthe .

a)  crew b) coupler c) weather

2.  The device meets _ standards.

a) failure b) safety c) grade

3. Grade is usually expressedasa .

a)  percentage b) mile c) liter

4.  __ enables the engineering system to react to changing environment.
a) reliability b) security c) flexibility

5. Most cars and locomotives have automatic .

a)  countries b) couplers c) colors

6. A ___isacompany that moves goods from one place to another.
a)  crew b) multiple engine c) freight carrier



7. The cause of the crash was engine .

a) file b) fall c) failure
8. Action must be taken to ____ further accidents.
a)  produce b) prevent c) invent
9.  The house costs a fortune (= a large amount of money) to .
a) maintain b) operate ¢) climb

10. Conversion to electrification is more costly when you already use
locomotive-___units.
a)  headed b) hauled ¢) handed

2. Replace Russian words with their English equivalents and translate the
sentences.

1. Battery-powered (akkymynstopubiii) locomotives are used in mines
where diesel smoke is dangerous for mokoMoTHBHEIE OpUTaTIBI.

2.  This railway operates both moe3ma Ha OKOMOTHBHOW Tsre and
MOTOpBaroHHele moeszaa in commuter traffic (mpuropoanoe coobmieHME).

3. The steeper a ykion the more power a machine requires climbing it.

4.  DxkcrutyaranmonHas ruOkocth IS the ability to produce a product in
different ways.

5. Ananti-lock ropmo3snas cucrema offers improved vehicle control and may
decrease stopping distances on dry and especially slippery roads; but it can increase
braking distance on snow and gravel.

6. New methods must be carefully examined according to the criteria of cost
and mpocToTa B 3KCILIyaTallHH.

7. The moBpexnennsiii locomotive is to be replaced with another one.

8. Over 30 people died when two trains collided because of a brake otka3.

Q. In Great Britain camerit kpyroii mogsem allowed by law on a railway is 1
foot in 70 feet.

3. Mark the following statements as ‘True’ or’ False’.

1.  Trains having self-propelled vehicles are called multiple unit trains.

2. Multiple unit trains are used both for passenger and freight traffic.

3. Since the invention of the locomotive the motive power has been isolated
In one unit.

4, Locomotives are more economical than multiple unit trains because they
are more suitable for steep grades.

5. Locomotives are safer because the train’s power system is located away
from passengers.



6. Multiple unit trains are easier to maintain; therefore major railroads prefer
using locomotives.

7. It is easy to replace the failed locomotive with another one. For this
reason there is no need to take the entire train out of service.

8. Locomotives are flexible which means that larger locomotives should be
used on steep grades.

Variant 8

1. Match the beginning of the sentence on the left with the phrase on the right.

A B

1.  Multiple unit trains are more energy efficient than ... @)  driving
wheels.

2. Locomotive-hauled trains are more suitable for ... b)  steep
grades.

3. In a multiple unit train much more of the train’s weight is placed on ...

c)  turnaround times.
4.  Many multiple units have cabs at ... .d)  reliable brakes.

5. There is no need to reverse the multiple unit train. It gives quicker ...e)
locomotive-hauled trains.
6. If one engine on the multiple unit train fails there is no need to take the

entire train out of service because multiple unit trains have ... f) braking systems.
7. The failure of the brakes on one car of the multiple unit train may not be
dangerous because these trains have independent ... on all cars. g)  operate
safely.
8. Independent braking systems on all cars enable multiple unit trains to ...
h)  both ends.

2. Choose the right alternative and translate the sentences into Russian.

1.  The chemical energy is stored / stroked in the fuel.

2. Please remain / draw seated until all the lights are on.

3. Huge qualities / quantities of oil were spilling into the sea.

4.  There are people who prefer / burn to work alone even when they have to
work in a group.

5. Anenergy/ engine is a machine that makes energy / engine more usable.

6.  The first diesel-electric locomotives were used as turning / switching
locomotives.

7. The car’s combustion / performance on mountain roads was impressive.

8.  The petrol tank suddenly ignited / injected.



9. A fuel-injection / oil-injection engine often produces more power than an
equivalent carbureted engine.

10. Revolutions per minute (rpm) is a unit / output of frequency of rotation:
the number of full rotations completed in one minute around a fixed axis.

11. The rated output / input is a maximum that is typically achieved by the
turbine.

12.  Diesel exhaust / power is composed of a mixture of many different toxic
chemicals.

13.  There were 120 students whose ages remained / ranged from ten to
eighteen.

3. Are you good at prepositions? Insert either AT, ON or IN. Translate the
sentences into Russian. Put as many questions as you can.
1. The price of electricity is goingup ___ October.

2. Mozart was born __ Salzburg _ 1756.

3.  The telephone and doorbell rang __ the same time.

4, | last saw Kate _ Tuesday.

5. There are usually a lot of parties  New Year’s Eve.

6. The course begins 7 January and ends sometime __ April.
7. It was quite a short book and easy to read. | read it a day.
8. I don’t like travelling ___ night.

Q. __Saturday night I wenttobed 11 o’clock.

10. Jenny’s brother is an engineer but he’s out of work  the moment.
V1 cemecTp

Variant 1

1.Read the sentences, replacing Russian words with their English equivalents.

1. George Westinghouse (1300pen) a system of (Bo3mayiiHbie Topmo3a) that
made travel (Ha) train (ropa3ao Ge3omnacHee).

2. In the U.S., a federal law (tpeOyrommuii) the installation of (aBTocienka)
on all (moxaBxHOM cocTaB) was passed in 1897.

3. (Campble TspKETOBECHBIE) trains (mmepeBo3sIT HaBaJOYHbIC TPY3bl TAKHE KaK)
iron ore and coal. Loads (moryt 6biTh) 130 tons per car and tens of thousands of tons
per train.

4, Modern North American (4eTbIpexOCHBIE BaroHbl st yriisi) typically
have 100-110 tons' (rpy3onoabemuocts) In Europe, where (peibcoBblii myTh) is not
designed for (oceBas Harpyska) as high as those accepted in North America, the
(rpy3onoabeMHuocth) of (mogo6HsIi) four-axle cars is between 60 and 65 tons.



5. Wooden freight cars (Opum 3ameHeHbl) by (IIeTbHOMETALTUYCCKUN )
designs, which were much (npounee) and capable of hauling (Oostee TsKEeTOBECHBIE)
loads.

6.  Although the Cork Run tunnel on the Pittsburgh Railroad can handle most
freight trains (Maymmx B MPOTHUBOMOJOXKHBIX HampaBieHHUsX) on the (IByXIyTHas
nwHEA), many large freight cars can not pass side-by-side.

7. (ITpomycknast cmiocoOHOCTD K. 4. TUHHUH) 1S the maximum (komnuecTBO) of
trains that can operate (6e3omacHo) and (HagexHO) over a given (y4acTok myTu) during
a given period of time. For example, the Betuwe line (the Netherlands) has
(mpomyckHasi criocoOHOCTh) for ten (TsbkenoBecHbIi) freight trains per hour in each
(mampaBnieHue), with a transit time for the line of 90 min.

8. In 1998, German Railways (skcmiyatupoBats) about 16,000
(ueTeIpexocHbIe moryBaronsl). Since the 1990s, this type of cars has been increasingly
(cauMmarts ¢ akcrtyatanuu) and they are now rarely seen.

2. Fill in the gaps with the words from the list. (Tip: there are two extra words.)

1. Freight cars weighing 70 to 80 tons have two four-wheel .

2. Additional carriages can be __ to the train as needed.

3. If the paint is too thick, it will not spread .

4. Boxcars can be divided into two types:  and cars built for a
commaodity or service.

5. Russia has a considerable _ of freight cars having 4 two-axle trucks.

6. A modern 36- or 45-ton boxcar ___ differs from the freight cars of the
early 20th century, when the usual _ was 9 or 14 tons.
7. Atrain ___ is a signaling device on a locomotive used to warn that the

train is approaching and to communicate with rail workers.
8. Carsinatrainare by couplers located at both ends of each car.
9. __ iscommodity that is transported unpackaged in large quantities.
10. Priortothe __ of air brakes, stopping a train was a difficult task.
11. There are about 100 of special-purpose cars.

12.  In 1955, British railways began to _ steam trains with diesel and
electric ones. The last steam locomotive was ___ in 1968.
13. __isthe maximum weight allowed on a single axle.

14. The payload capacity of freight cars has been considerably increased by
____intruck design.

15. A four-axle vehicle weighing 60 tons has an axle load of approximately
15 tons depending on how the weightwas . a)  advances

b)  amount

c)  attached



axle load

bulk cargo
considerably
coupled
distributed
evenly

frame

general service
introduction
loading capacity
replace

retired

specific
stability

trucks
varieties
whistle

3. Match the English phrases with their Russian equivalents.

© oo N akkwdE D

D OO0 T B R P P
T =k~ wDdEFOo

B

to attach rigidly

brakeman

car of better design

compressed air

locomotive engineer

over great distances

over the course of time

private company

quarries and coal mines

to remain in use

the very first freight cars

to turn brake wheel

two-truck car

awide variety of cars a)  Ha OoJbIlIHE PACCTOSHUS
BAarOH YCOBEPILIECHCTBOBAHHON KOHCTPYKLIMU
MAIIHHUCT

CaMBIC IICPBBIC I'PY30BLIC BAI'OHbI
KaMCHOJIOMHH U YTOJIbHBIC IAXThI



f) JacTHas KOMIIAHUS

g)  C©KaTblil BO3IyX

h)  3akpyuuBaTh KOJIECO PyYHOTO TOPMO3a

1) JIBYXTEJICKECUHBIN BaroH

), 00JIBIIIOC KOJMIECTBO Pa3HOOOPA3HBIX BarOHOB
K)  coBpemenem

) MPUKPETIISATH )KECTKO (HETIOABUKHO)

M)  OCTaBaThCS B IKCILTyaTaIlUU

N)  TOPMO3HIBIIUK

Variant 2
1. Match the beginnings and ends of the sentences.

1. Interchanging cars between railroads required... a)  an integral part
of all freight trains.
2.  Early train brakes were hand brakes... b) only to work on

passenger trains.

3. Efforts to standardize brakes were... C) If cars became separated.

4. In that year, George Westinghouse... d)  after testing on the Chicago &
Burlington in Burlington, lowa.

5. In 1871, he designed an air brake that would immediately engage... €)

developed his first air brake.

6.  Westinghouse's air brakes were designed ...f) the standardization of
brakes.

7. Air brakes for freight trains were adopted in 1887... 9)
unsuccessful until 1869.
8. These air brakes, with improvements, have remained... h)  operated

by brakemen in each car.

2. Degrees of comparison. Use the adjectives from the box in the superlative
form and fill in the gaps with them.

big busy common earlyeconomical expensive
good heavy large new noticeable
safe
1. Rail shipping is possibly ~ and _ mode of transportation. Rail

shipping is ____ for shipping bulky and heavy goods over long distances.



2. According to Guinness World Records, _ freight train on record
weighed 220 million pounds and was more than 4 1/2 miles long.

3. ___ mining railroad cars were pulled by men or horses, and it was until
1804 when the first steam locomotive appeared in Wales.

4, Dagin Railway is ___ freight line in the world; it transports more than 1
million tons of coal to the east sea shore of China every day.

5.  Although the railroad is considered one of __ forms of transport, there
are many possibilities for accidents to take place.

6. ___ high-speed lines allow speeds of up to 320 km/h in normal operation.

7. CNR Corp. (China) will deliver 260 40-ton-axle-load gondola cars to
FMG, Australia's third-largest iron ore miner. These gondolas are ___ railway freight
cars in terms of loading capacity.

8.  Through the years, __ change in tank cars was in size. The 100 barrel
tank was ___ size during the 1880s. Some of ___ tank cars seen on the tracks now can
carry over 600 barrels.

3. Degrees of comparison. Use the adjectives in brackets in the comparative
form.

1. The new siding will allow (slow) freight trains to move off the main track
and let (fast) passenger trains pass.

2. As freight cars continue to advance, (good) designs will appear, making
them of (high) quality and able to haul (heavy) loads.

3.  The problem of stopping long trains (quick), (smooth) and (safe) was
solved in 1869 when air brake was invented by George Westinghouse.

4, (Strong) and (reliable) than wooden cars, steel boxcars quickly became
popular on railroads.

5. Introducing steel cars made railways (efficient) as (powerful) locomotives
pulled (long) trains at (high) speed.

6. The new steel for railcars is lightweight and 50% (resistant) to corrosion
compared with existing variants.

7. Aluminum cars are (light), (durable), (expensive) than cars with steel
bodies. They are used in specific services such as hauling coal where the (high)
loading capacity of aluminum cars justifies the car's extra cost.

8. Most rail networks in the world operate on a 1,435 mm gauge track
known as standard gauge but some countries such as Russia, Finland and Spain use
(broad) gauges while many other countries in Africa and South America use (narrow)
gauges on their networks.



Variant 3

1. Equivalents of modal verbs. Choose the correct form.

1. Loads that (are able to / are to) be protected from weather are hauled in
boxcars.

2. To apply the brakes on a boxcar, the brakeman (is to / had to) climb to the
roof of the moving train.

3. A 48-ft coal car weighing 27 tons (is able to / are allowed to) carry 77
tons of coal, but 50-ft cars of similar construction weighting 34 tons (is to / are able to)
carry 109 tons of coal.

4, In the US, rules prevent train crews from running longer than twelve
hours. When the twelve hours run out, the crew (is able to / has to) be replaced.

5.  According to the traffic requirements, the railways (have to / was able to)
change their schedules two times a year.

6. The earliest reefers were ice-cooled and trains (were to / were allowed to)
make stops every 400 miles to load cars with ice.

7. On March 1, 1873, several cars of the Pittsburgh Express derailed inside
the Cork Run tunnel. Passengers (had to / was to) leave the train and walk through the
tunnel by foot.

8. The damaged train (will have to / are able to) be shunted onto a side track.

Q. On the pioneer railways of the US, accidents happened very often as the
trains (weren't able to / didn't have to) stop quickly due to the limited brake power.

10.  Freight cars (has to / are allowed to) remain in service for 50 years after
their manufacture.

2. Read the sentences, replacing the italicized words with their English
equivalents.

1. (Xots) railroads (pampme) dominated (kak) freight (tax u) passenger
traffic in the USA, increased competition from trucking reduced their role in
transportation.

2. Standard boxcars are (6omsmre ne) used for carrying livestock and
automobiles.

3. In Germany and some other European countries, two-axle (a ue) four-axle
boxcars have been (B ocHoBHOM) uUsed (mo HemaBHero Bpemenu) (Tak kak) the
comparatively light freight doesn't require the use of truck cars.

4. Boxcars comprised about 40% of the German railways wagon fleet (o)
the 1960s.

5. Railroads (mo cux mop) play a key role in hauling (rakux) goods (kax)
coal, iron ore and grain.



6.  The Janney coupler patented in 1873 became the standard coupler for the
railroad car used (naxxe) today.

7.  Steel cars replaced wooden variety (6xaromaps) their strength and
durability.

8. In the early days of the railway, goods trains ran at top speeds of about 32
km/h. (Onnako) the introduction of through brakes from the 1920s allowed higher
speeds to be achieved.

Q. The use of aluminum (Bmecto) steel for carbody greatly reduces the car's
tare weight.

3. Choose the appropriate word or words.

1. A boxcar is a freight car with (slat / sliding / high) sides and a (leaking /
fixed / broad) roof.

2. Boxcars may be equipped with movable (frames / ends / bulkheads) to
load large items.

3. Forklifts and other mechanical tools are used to (deliver / load / repair)
boxcars (slower / stronger / faster).

4, Manufactured goods, which need protection from the (pilferage / weather
/ damage), are carried in covered cars.

5. Standard boxcars are (lower / longer / wider) than hi-cube cars.

6. Boxcars can't be used for carrying (bulk / general / perishable) goods that
require the precise temperature control.

7. 89-foot high-cube boxcars appeared in the early 1960s to (accommodate /
carry / deliver) large auto parts.

Variant 4

1. Translate the sentences into English.

1. KpbITBI BaroH — TMI rpy30BOr0 BaroHa, 3aKpbIThIM CO BCEX CTOPOH.

2. KpbIThIii BaroH npeaHa3HauveH sl 00€CHeueHUsl 3alUThl IEPEeBO3UMOTO
rpy3a oT aTMOC(epHOro BO3AEUCTBUS, KPAXKU U MEXAHUYECKUX MTOBPEKICHUIM.

3. OcHOBHBIMHU TEXHUYECKMMHU XapakTepuctukamu (technical specifications)
Ipy30BOr0 BaroHa SBJIAIOTCS: Macca Tapbl, I'PY30MOAbEMHOCTb, OOBEM Ky30Ba,
TJI0IA b TI0JIa U THHEHHBIEe pa3Mepsl (linear dimensions).

4. B Poccum pacmpocTpaHeHbl IEITbHOMETAUIMUECKAE YHUBEPCAIbHBIC
KPBIThIE BarOHBI IPY30M0IbEMHOCTBIO 68 TOHH.

5. Ky30B KpBITBIX BaroHOB MMEET pamy C TOJOM, OOKOBBIE U TOPIIEBHIC
CTEHBI, KPBIIILY, a TAK)K€ OOKOBBIE IBEPH U JIFOKH ISl 3aTPY3KU U BBITPY3KH IPY30B.

6. J1J1st IepeBO3KHM B KPHITOM BaroHe TPy3 JOJKEH ObITh YITAKOBaH.



1. OCHOBHBIMH NpeuUMyIIcCTBaMm ICPCBO3KU B KPBITHIX BarOoHax SABJIAOTCA
COXPAaHHOCTD I'PY30B U BO3BMOKHOCTb daBTOMATHU3alIUHN ITOTPY3KHU-BBII'PY3KHU.

2. Read the text and fill in the gaps with the required words.

Notes: freighthopping — HenerampbHOE meEpeABMIKCHHE HAa TPY30BBIX
oe31ax

to stow away — He3aMeTHO IPOHUKATh HAa TPAHCIIOPTHOE CPEACTBO

Freighthopping

Freight trains are sometimes illegally boarded by people who don't wantor 1
to travel by passenger trains. 2 practice is called freighthopping or train hopping.

In the U.S., this became a 3 means of train ride after the American Civil
War, especially among migrant workers known as "hobos". Today, freighthopping
___4 by law in all states in the U.S., though it is still practiced. Freighthopping is
mainly used 5 the homeless population and thrill-seekers. Most hoppers sneak into
____6 and stow away in freight cars. Bolder hoppers catch a train "on the fly", i.e. as it
___7. Hopping a freight train can be 8 and sometimes leads to fatalities. Many
railroads take strict measures against hoppers. They employ railroad police, also
known as "bulls", in an attempt to 9 the practice.

Hoppers have often used boxcars or 10 in their journeys since they are
enclosed and therefore they cannot be seen by security men, 11 being insulated
from cold weather to some degree. However, on many freight trains, the traditional
boxcar has given way to more secure 12 cars or intermodals. It made freight trains
far 13 accessible than in the past. 14 (called "suicide cars" by freighthoppers)
are not often used for riding.

A) don't likeB) are afraidC) don't have the money

A) this B)these  C)thatis

A) convenient B) common C) inexpensive

A) is forbidden  B) have been forbidden C) forbids
A) with B) forC) by

A) loading platforms  B) freight yards  C) forklifts
A) moved B)move C)is moving

A) dangerous B) exciting C) versatile

A) promote B) replace C) prevent

A) reefers B) tank cars C) autoracks

A) as well as B) no longerC) rather than

A) slat side B) plug door C) floor space

A) more  B) less C) more or less
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14.  A) flatcars B) boxcars C) dining cars

3. . Read the sentences, replacing Russian words with their English equivalents.

(CymectBytot pasnuunbie) types of gondola cars such as:

N GA — an open top car having (kecTko 3akperuIeHHbIE OOKOBBIC H
tTopuesbie cteHsl) and (otkumuoe aamie) consisting of doors hinged crosswise of car
(U1 BRITPY3KH TPy3a B MEXKIYPEITbCOBOE MIPOCTPAHCTBO);

[ GB — an open top car having (3keCTKO 3aKpericHHbIe OOKOBBIE CTEHKH),
(’KECTKO 3aKperyieHHbIE WM OTKUJIHBIE TOPIIEBbIE CTeHKH) and (TJIyXoe JTHHUIIIE);

O GD — an open top car having (KE€CTKO 3aKpeIuICHHbIC WJIM OTKHUJIHbBIE
TOpIIEBbIE CTEHBI), (TIyXxoe mauuIie) and (OOKOBBIE CTEHBI, 00OPYIOBAHHBIC ABEPSIMHU
JUTSL BBITPY3KH);

[ GH — an open top car having (3keCTKO 3aKpeIuIeHHbIE OOKOBBIC CTCHBI)
(otkuaHble TOpuEBble cTeHbl) and (oTkuaHoe nHuine) consisting of doors hinged at
center sills (y1s1 BBITPY3KH Ipy3a Ha CTOPOHY OT K.JI. IyTH);

O GS — an open top car having (XKecTKO 3akperuieHHble OOKOBBIE H
TopiieBbie cTeHbl) and (oTkuaHOE mHUINE) consisting of doors hinged at center sills or
side sills (st BBITpY3KH Tpy3a B MEXIYPEIbCOBOE MPOCTPAHCTBO W/WUIIU HA CTOPOHY
OT XK.J. IyTH).

N GT — an open top car having (BBICOKHE >KECTKO 3aKpEIUICHHbIE OOKOBBIC
ctenbl) and (KECTKO 3aKpEIUICHHBbIE WM OTKHUJHBIC TOplEeBbie cTeHbl) and (Tiryxoe
naunie) used for unloading (Ha pOoTOPHBIX BarOHOONPOKHUABIBATENAX) only;

O GW — a (mIyXomOHHBIM TMOJyBaroH) (C JKECTKO 3aKPErJICHHBIMH
OOKOBBIMHU W TOPIIEBBIMHU CcTeHaMu) having one or more openings or depressions in the
bottom, allowing the lading to be lowered to obtain overhead clearance.

Variant 5

1.Fill in the gaps with the words from the list. (Tip: there are two extra words.)

1.  The introduction of high-speed trains __ considerable reductions in
journey time.

2. Gondolas are unloaded, using a ___ or overhead crane and are ideal for

3. Signal operators install, __and repair the signals on tracks and in ___.

4. A tank car mixer is used to blend __ of a tank car directly in the car
quickly and efficiently.

5. Railroads have a large _ of specialized machines to maintain the track
in a proper condition.

6. Hatches on the __ of the cars allow for easy dumping the load.



7. For efficient loading of shipped items that are too heavy to move |
carriers use special equipment.

8.  There are three main varieties of gondolas by the height of the sides
rather than length.

Q. High-sided open cars can be built with __ (either metal or tarpaulin) to
haul cargoes needing protection in transit.

10. __ are perhaps the busiest freight car carrying everything from minerals
to lumber and steel.

11. Poorly maintained rotary dumpers can considerably reduce the _ of a
gondola car.

12. Rail freight has traditionally been associated with the _ of heavy loads.

a) bottom

b)  bulk products

Cc)  contents

d)  distinguishable

e)  drop-end gondolas

f) dump
g) fleet
h)  haulage

1) maintain

) manually

K)  piece freight

) rail yards

m)  removable covers
n)  resultsin

0)  rotary dumper

p)  serviceable life

2. Match the English phrases with their Russian equivalents.

B

covered gondola car
finished steel products
heavy machinery

in transit

laborious task

rowing boat

scrap metal and timber
shovels and wheelbarrows
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9. track ballast a) TOTOBBIC M3/CIHS U3 CTAIH
b)  Tskenas pabora

C)  METaJJIOJIOM M JIeCOMATepHAIIbI

d)  rpeOnas g0aKa

€)  TOKeIoe MalMHHOE 000pyI0BaHUE

f) MyTeBOM Oaniact

g)  KpBITHIH [TOJyBaroH

h)  jomartel U Tauku

) IpU TPAHCIIOPTUPOBKE, B IyTH CJICTIOBAHUS

3. Match the words on the left with their definitions on the right.

1. covered gondola a) a car with end doors, which can be dropped
down when the car is used for shipping long items extending over more than one car;

2.  drop bottomgondola b) a car with sides and ends over 36 inches
high;

3. dropendgondola ¢) a car equipped with a removable cover, which
can be placed over the goods to protect it from the weather in transit;

4.  general service gondola d)  a car with sides and ends 36 inches high or
less;

5. high side gondola )  a mechanism used for unloading certain railroad
cars such as hopper cars or gondolas;

6. low side gondola f) a car not designed for a specific commodity or
shipper, without special equipment;

7. rotary car dumper g)  a single consist for a single customer carrying a
single commodity from origin to destination;

8. unittrain  h)  a car with a flat floor equipped with a number of doors
for dumping freight

Variant 6

1. Infinitive. Pay attention to the translation of infinitives after the adverbs:

enough — 1ocTaTo4Ho, t00 — CIIHMIIIKOM.

A.

1. The three largest mines in the USA produce enough coal to load 25 trains
per day, each with more than 100 cars.

2. The railroad operator has enough financial resources to modernize the
infrastructure of track facilities.



3. Breakdown rail cranes are powerful enough to lift derailed rolling stock
back onto the track, although two or more cranes may be required to recover a
locomotive. In the early days of the railways, locomotives and rolling stock were small
enough to be re-railed manually, using tackles.

4. Indian Railways has enough land beside its tracks to grow sufficient
plants to enable all its trains to run on 10% biodiesel blend.

5. Many double-track rail lines are too narrow to handle two large freight
trains passing in opposite directions.

6. Railroads use special equipment to load items that are too heavy to move
manually.

7. The locomotive engineer applied the brake too late to prevent collision at
the crossing.

8. Some loads are too tall to pass safely under bridges if they are carried on
standard flatcars.

B.

1. CranpHasgs pamMa BaroHa JOCTaTOYHO IIpOYHAas, 4YTOOBI BBIJIEPKATh
Harpy3ky 10 (up to) 200 ToHH.

2.  MocT HemoCcTaTOYHO BBICOKHM, YTOOBI MPOMYCTUTh ABYXBAPYCHBIN
KOHTECUHEPHBIN MOE3I.

3. VY Hac I0CTaTOYHO BpEeMEHH, 4TOOHI yCIeTh Ha moe3. JKene3HomopoxkHast
CTaHIMS PACHOJI0KEHA JOCTATOYHO OJM3KO, YTOOBI TOUTH Ty/Ja NEIIKOM.

4, CocTaB CIUIIKOM JTHHHBIN, 9TOOBI €T0 TSHYJ OJHH JIOKOMOTHB.

5. OTOT TpaHCHOPTEP CIUIIKOM KOPOTKUW, YTOOBI BMECTUTH 53-GyTOBBIN
KOHTEUHED.

6. OO6opynoBaHue CIMIIKOM TPOMO3JKOE, YTOObI MomecTuThes (to fit) B

KPBITBIA BaroH.

7. [ucrepna  Obula  CAMIIKOM  TOBPEXKAEHA,  YTOOBI  MOAJIEXKATh
BOCCTAHOBJICHUIO (tO restore).

8. Bonpuierpy3nble  BaroHbI-IIATGOPMBI  MPEAHA3HAYEHBI ISl  TPY30B,
KOTOPBIE CIMIIKOM TSDKEJIIOBECHBIE WJIM TPOMO3AKHE I MEPEBO3KH B CTaHIAPTHBIX
KPBITBIX BaroHax.

2. Participle. Choose the correct form of Participle | or Participle I1.

N One rail line in the U.S. has recently putting / put into operation a fleet of
gondolas with all-white interiors as an aid to loaders working / worked at night.

N Crane operators, loading / loaded steel pipes for example, have always
had trouble in estimating how far their loads were from the bottom of the gondolas.



[ As black interiors against the night darkness offered no contrast,
operations were slowing / slowed down and loads were frequently damaging /
damaged when they were slamming / slammed down too hard.

N Now, with interiors painting / painted white with a special light-reflecting
/ reflected paint, loadings at night are faster and gentler on the freight.

3. Fill in the gaps with the words from the list. (Tip: there are two extra words.)
1. A ___ wasdraped over the boxes to keep them dry if it rains.

2. Centerbeams have bulkhead ends and a raised center . These cars must
be loaded and unloaded from both sides or the car will .

3. isamechanism used for connecting the upper and lower containers of
each stack.

4. To ___ the pipes from rolling off the car en route, they are strapped to

each other and to the .

5.  Today, approximately 90% of non-bulk cargo worldwide moves by
containers ___ on ships or well cars.

6.  According to the Federal Railroad Administration, about 3,000 train
accidents ___inthe U.S. each year, leading to about 1,000 deaths.

7.  ___ along the flatcar's sides help to secure loads and keep them from
shifting.

8. The use of high strength steels have lowered the tare weight of modern
freight cars and enabled them to carry more .

9.  The universal __ eliminated the need for complex tie-downs, allowing
trains to be loaded faster.

10. In rail yards, some cars are sent to unload their cargo on special tracks,
while others are moved to different tracks to await assembly into new trains __ on
their destinations.

11. Cast iron rails weren't strong enough to __ the weight of ever-heavier
locomotives and rolling stock.

12. A net is often ___ on top of the open-top gondola to prevent the wind
from blowing the woodchips or coal away. a)  deck

b)  depending

C) inter-box

connector

d)  occur
e)  payload
f) prevent

g)  secured



h)  shell

) sill

J) stacked
k)  stakes

) tarp

m) tie down
n)  tip over

0) trailer hitches
p)  withstand

Variant 7
1. Insert the prepositions from the box into the sentences.

among from in of on to towards with without

1. Some double-stacks have been fitted *** hitches, which allow them to
carry semi-trailers as well as containers.

2. Double-stack cars come in a number of sizes, depending *** the standard
sizes *** the containers they are designed to carry.

3. The need to prevent sideways shifting of loads resulted *** the
development *** the centerbeam flatcars.

4.  To keep the centerbeam balanced, the loads must be evenly distributed
*** poth sides.

5. Finished lumber can be exposed *** weather *** transit or wrapped in
plastic sheeting.

6. *** the many specialized flatcars *** the wagon fleet, there are cars
equipped *** end bulkheads and stakes on the sides. These help prevent long loads
*** shifting in any direction.

7. Some bulkhead flatcars have the floor sloping *** the center of the car,
allowing two stacks *** the small logs to be placed down the length *** the car.

8.  Roadrailers first appeared *** American railroads *** the 1950s.
Roadrailers are specialized truck trailers fitted *** wheel bogies and couplers. They
can be coupled *** freight (or passenger) trains *** using flatcars or spine cars.

2. Match the words on the left with their definitions on the right.

1. bulkhead flatcar



a)  the mass of clean, empty equipment, i.e. the car containing no

goods or packing and debris resulting from the goods;

2.  centerbeam flatcarb)  a type of freight car specially designed to carry
shipping containers used in intermodal freight transport;

3. depressed center flatcar ¢) a fastener for a trailer carried on the
flatcar;

4. general service flatcar d) a type of freight car with end walls but
without any sides used to carry long loads;

5. wellcar e)  atype of freight car, which can be a flat-bottomed car
with no sides on which freight can be stacked;

6. spinecar f) the height or width of a tunnel or bridge; the distance
between a car and the walls or roof of the passage;

7. hitch g)  rope, cord, straps or chains used to attach or secure an item;

8. clearance h) a type of freight car with end walls and an additional
wall dividing one side of the flatcar from the other but without any sides;

9.  tare weight i) a heavy waterproof fabric used as a protective covering
against moisture;

10. tarpaulin j) a type of freight car with lowered center deck for goods
that would exceed permissible heights if loaded on standard flatcars;

11. tie-down k) atype of freight car for carrying highway truck trailers
and/or containers.

3. Match the English phrases with their Russian equivalents.

B

aircraft components

coiled steel

end bulkhead

exposed to weather

military machinery
infrastructure of track facilities
to invest heavily in

load limit

long freight

lumber

to meet specific needs

pipes, steel slabs, utility poles
portion of floor

power line
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15.  rescue operation

16.  semi-trailer

17. shape and design of the flatcar

18.  shipping company

19. stake pocket

20. tie-down point

21. tall load a)  BOCHHAs TCXHHUKA

b)  MakcumaibHO JOITycKaeMas Harpyska

C)  dacTh moia

d)  cmoacarenbHas oneparus

€)  THE3/0 WK CKoba I CTOCK

f) OTBEYaTh OIpPEICTICHHBIM TPEOOBAHUSIM

g)  TpaHCIOpTHAasl KOMIAHWUSI

h)  rpy3 OoJBIION BBICOTHI

) ¢dopMa 1 KOHCTPYKIIHS BaroHa-1aaTQopMbl
) AJIEMEHTHI KOHCTPYKIIMH CaMoJIeTa

K)  nuHUA s;mexTpornepeaayu

)] JUTMHHOMEPHBIN TPy3

m)  mOJyNpUIleT

n)  KpemexHas ckoba

0)  TOpIEBas IEPeropoIKa

P)  WHBECTHPOBATH 3HAUYHUTEIBHBIC CPEICTBA B
q)  pyJOHHAas CTajb

r HE 3aIMIICHHBIN OT aTMOC(EPHBIX BO3JACHCTBUIMA
S)  JlecoMaTepHalIb

t) UHPPACTPYKTypa IMyTEBOTO XO35IHCTBA

U)  TpyOBl, CTAIBHBIC JTUCTHI, CTOJOBI JJIs JIMHUH CBSI3M U DJIEKTpoIepeaayd

Variant 8

1. Put the verbs in brackets into the correct tense form to translate the sentences.



1. Several companies, including Martec and International of South
Plainfield, (to manufacture — Present Simple Active) semiautomatic inter-box
connectors.

2. The containers (to reload — Past Continuous Passive) from the ship to the
well cars by heavy-duty cranes.

3. The rail line can handle double-stacks if it (to build — Present Perfect
Passive) with sufficient vertical clearance.

4. Idler flatcars (to use — Present Simple Passive) in oversize freight service,
as loads such as pipe often (to overhang — Present Simple Active) the ends of most
standard-sized flatcars. Empty flatcars (to place — Future Simple Passive) on both ends
of the loaded car. This (to protect — Present Simple Active) the cargo ends from
damage and (to ensure — Present Simple Active) that the loaded cars (not / to damage —
Present Simple Active) the ends of adjacent cars.

5. The plastic shell over top of the flatcar (to make — Present Simple Active)
it impossible to tell what it (to haul — Present Continuous Active).

6. On October 16, 1999, Amtrak’s passenger train, en route from Chicago to
Los Angeles, (to derail — Past Simple Passive) at a section of track that (to damage —
Past Perfect Passive) by the 7-magnitude earthquake, which (to occur — Past Perfect
Active) 24 minutes prior to the accident.

7. Since 2011, a direct container train (to carry — Present Perfect Active)
auto parts from Germany to China via Siberia in 23 days.

8. Most businesses, if they (to ship — Present Continuous Active) long
distance, often (to prefer — Present Simple Active) railroads to motor transport because
it (to be — Present Simple Active) cheaper to ship in large quantities by rail than by
truck.

9.  Workers (to apply / recently — Present Perfect Active) reflective stripes to
the car sides. These stripes (to design — Present Simple Passive) to make the train more
visible to motorists approaching crossings at night.

10. Double-stack rail transport, where containers (to stack — Present Simple
Passive) on railway cars, (to introduce — Past Simple Passive) in 1984, with the first
use in the U.S.

2. Fill in the gaps with the words from the list.

1. Railroad tank cars come in various sizes, with a variety of safety |
heatingor _,  hatchesand ___ devices.

2. Non-pressure tanks cars have tank test pressure that doesn't 100 psi.

3. The of the tank may be lined with a material such as glass or rubber
to isolate the tank contents from the tank



4.  Thereisa ___ on the top of the tank used for filling and for access inside
to allow cleaning and repairs.

S. Standard tank cars are mostly used for petroleum products, which don’t
require .
6. Tank cars have a variety of safety devices and __ needed to ensure the

safe transportation of each commodity.

7. Signs on the tank car warn of the _ material being transported.

8. Milk tank cars were first made of glass-lined steel and later of .

9.  Some tank cars are divided into 2 or 3 ___, each of which can carry a
different product.

10. By the 1940s, that practice of using _ was mostly discontinued, the
standard tank car carrying only one product atatime. a)  compartments

b)  compartment-

tank cars
c)  cooling units
d)  discharge

e)  exceed

f) hatch

g) hazardous

h)  heating

1) interior

), linings

k)  loading

) shell

m)  stainless steel
n)  valves

3. Match the English phrases with their Russian equivalents.

B

cylindrical tank

foam insulation

food service tank car

heating system

highly viscous products

to keep at a certain temperature
to operate at a reduced level
powdered freight
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refrigeration system
rubber

semi-liquid

specialized coating
standard discharge device

thorough cleaning a)  mmcTepHa A TEPEBO3KY MUIIEBBIX TPY30B

cuctemMa o0orpeBa

MOJTY KUK

MOPOIIKOOOPa3HbIE TPY3bI
THIATEIbHAsI OYMCTKA WM IPOMBIBKA
TUIIOBOU CIIMBHOM MpUOOp

pe3uHa

cUCTEeMa OXJIaXKICHUs

KOTEJI HWJIMHIPUYECKOU POpMBI
CIIEMAILHOE TIOKPBITHUE

XPaHUTh MIPU ONPEICIICHHON TeMIepaType
paboTaTh HE HA TOJIHYIO MOIIHOCTh
BBICOKOBSI3KHE TPY3bI

MIEHOU3OJISIITUS
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— 281 ¢. — ISBN 978-5-406-05137-5. — URL.: https://book.ru/book/919131. —
Texcr: smexkTponHBIA. — Pexkum moctyma: https://www.book.ru/book/919131  mo
MapoJIko.

2. MycaroBa JI.A. Aurnuiickuii si3bIK. JIeKCHKO-TpaMMaTHUeCKHUE 3a/laHus IO
TekctaM «In a maze», «Famous Friends», «Mr. Know-All». YpoBens Intermediate
[DnekTpoHHBIH pecypc]: cOopHuk TekcToB / JILA. MycaroBa. — DIEKTpOH. TEKCTOBBIE
naHHble. — MockBa: MOCKOBCKUM T'yMaHUTapHbIN yHuBepcuteT, 2016. — 29 ¢. —
978-5-906822-51-2. — Pexum nocrtyna: http://www.iprbookshop.ru/74692.html no
apoJIio.

3. KaprioBa, T.A. English for Colleges=AHrnuiickuii sI3bIK 1751 KOJUICIKEH
[DnexTpoHHBIN pecypc]: yueobHoe nmocobue / Kapmosa T.A. — Mocksa: KuoPyc, 2017.
— 281 ¢. — ISBN 978-5-406-05722-3. — URL.: https://book.ru/book/921677. —
Tekct: snekTpoHHbId. — Pexum pgoctyma: https://www.book.ru/book/921677  mo
MapoJIto.

4. KapnioBa, T.A. English for Colleges = AHrnmiickuil si3bIK ISl KOJUIEIKEH.
[Tpaktukym + ellpunoxxkenue: TecThl [DNEKTPOHHBIA pecypc]: nmpakTukyMm / Kaprosa
T.A., BockoBckas A.C., Menbanuyk M.B. — MockBa: KuoPyc, 2018. — 286 ¢. —
ISBN 978-5-406-06280-7. — URL: https://book.ru/book/927088. — Tekcr:
ANEKTPOHHBIN. — Pesxxum noctyma: https:// www.book.ru/book/927088 1o mapoutro.

5. KaprnoBa, T.A. AHrimiickuii s3bIK [ DIEKTPOHHBIN pecypc]: yueOHoe mocodue
/ KaprioBa T.A., BockoBckast A.C. — Mocksa: KnoPyc, 2020. — 363 ¢. — ISBN 978-
5-406-02357-0. — URL.: https://book.ru/book/932756. — TekcT : 3AeKTPOHHBIH. —
Pexxum nocryma: https://www.book.ru/book/932756 1o mapotto.

6. Kapmosa, T.A. English for Colleges = AHrimmiickuii sS3bIK JJIs1 KOJIICIKCH.
[Ipaktukym + ellpunoxenue [DNEKTPOHHBIN pecypc]: TECTbl: y4eOHO-IIPAKTHUYECKOE

nocooue / Kapnoa T.A., BockoBckast A.C., Menbanuyk M.B. — Mocksa: KuoPyc,
2020. — 286 c¢. — (CIIO). — ISBN 978-5-406-07527-2. — URL:
https://book.ru/book/932751. — Tekcr: onexkTpoHHBIA. — Pexum gocryma:

https://www.book.ru/book/932751 no maposro.

7. Kapnoa, T.A. English for Colleges=AHIIUNUCKUN S3BIK TSI KOJUICIKEH
[DnexTpoHHBIN pecypc]: yuedbHoe mocobue / Kapnosa T.A. — Mocksa: KnoPyc, 2021.
— 281 c¢. — ISBN 978-5-406-08159-4. — URL.: https://book.ru/book/939389. —
Texcr : snextponnbii. — Pexxum poctymna: https://www.book.ru/book/939389  mo
MapoJIto.

I[OHO.]IHI/ITGJILHLIC UCTOYHUKMH.

1. bypenuna, A.C. Anxrnmiickuii si3bik. COOpPHUK TEKCTOB M 3aJlaHUMU.
VYposenn Pre-intermediate [DnexkTpoHHBIN pecypc]: yueOHO-MeToanuecKoe mocooue /



A.C. bypennna. — OIJEKTpOH. TEKCTOBbIE JaHHble. — MockBa: MOCKOBCKUI
rymaHuTapubeii yHuBepcurer, 2016. — 51 c¢. — 978-5-906822-74-1. — Pexum
noctyma: http://www.iprbookshop.ru/74693.html o napouto.

2. 2. I'onuapoBa, M.A. Aurnuiickuii s3pIlKk. COOPHUK TEKCTOB M 3aJIlaHUM.
VYposens Elementary [DnekTpoHHbIN pecypc]: yueOHO-MeToanueckoe nocooue / M.A.
l'onwapoBa, O.H. MaubneBa. — ODIJIEKTPOH. TEKCTOBBIE JaHHbIe. — MOCKBa:
MockoBcKkHi TyMaHuTapHBIH yHUBEpcuTeT, 2016. — 43 ¢. — 978-5-906822-46-8. —
Pexxum moctyma: http://www.iprbookshop.ru/74694.html mo mapouto.

3. 3. Urnarkuna, U.B. English for IT students. 2 xypc [DmnexkrpoHHBII
pecypc]: yuebHOe mocobue 1o aHriumiickomy s3eiky / .B. UrnatkuHa. — DIIEKTpOH.

TekcToBble gaHHble. — Camapa: [IoBOMKCKHI TOCyAapCTBEHHBI YHUBEPCHUTET
TeleKoOMMyHUKauuid u uHpopmatuku, 2016. — 131 ¢. — 2227-8397. — Pexum
nocryna: http://www.iprbookshop.ru/71818.html mo mapouto.

4, 4. IleBuoBa, I'.B. AHMIUNACKHAN SI3bIK JJISI TEXHUYECKHUX HaIPABICHUM
[DnexTponHBIN pecypc]: yueonuk / [llepmosa I'.B., Hapounas E.b., Mockanen JI.E. —
MockBa: KuoPyc, 2017. — 400 c. — ISBN 978-5-406-02448-5. — URL:
https://book.ru/book/921417. — Tekcr: 3JeKTpoHHBIH. — Pexum moctyna:
https://www.book.ru/book/921417 mo maposio.

5. 5. TonyGeB, A.Il. AHrIuiickuii S3BIK JJIS BCEX CIENHUAIBHOCTEHN

[DnekTponnbIii pecypc]: yueOnuk / ['omy6eB A.Il., Cmupnoa WU.b., Kyx A.J. —
Mocksa: KnoPyc, 2018. — 274 ¢. — (CIIO). — ISBN 978-5-406-06567-9. — URL.:

https://book.ru/book/929941. — Tekcr: onekTpoHHBIA. — Pexum gocryma:
https://www.book.ru/book/929941 no maposro.

6. 6. AHIIMUCKUN S3BIK [DJIEKTpOHHBIA pecypc]: yuyeOHoe IocoOue s
CIIO / M. A. BonkoBa, E. 0. Knenko, T. A. Ky3pmuna [u nap.]. — Capatos:
[IpodobpazoBanue, 2019. — 113 c. — ISBN 978-5-4488-0356-7. — Tekcr:
AJIEKTPOHHBIN // DnexkTpoHHO-OMOmoTeunas cuctema IPR BOOKS: [carit]. — URL:
http://www.iprbookshop.ru/86190.html. — Pexum goctyma: g aBTOPHU3HP.
II0JIB30BATEIICH IO MAPOJIIO.

1. 7. boukapeBa, T. C. AHrHICKHI SI3bIK [DIEKTPOHHBIA pecypc]: yaeOHoe

nocobue gy CIIO / T. C. boukapesa, K. I'. Hananga. — Caparos: [IpodgoOpazoBanue,
2020. — 99 c. — ISBN 978-5-4488-0646-9. — Tekcrt: 21eKTpOHHBIH // DIEKTPOHHO-

OubMoTeuHas cucTtemMa IPR BOOKS: [caitT]. — URL:
http://www.iprbookshop.ru/91852.html. — Pexxum goctyna: st aBTOpU3HP.
MOJIB30BATENIEH IO TTAPOIIIO.

8. 8. KammapoBa, B. C. AHmmiCKANA A3bIK [DNEKTPOHHBIN pecypcl:
yueOHoe mocobue / B. C. Kammapora, B. 10. CuannpiH. — 3-¢ u3a. — Mocksa,

Caparos: Nutepuer-YHuepcuter Mudopmarnmonnsix Texnomoruit (MHTYUT), Ai
IIu Ap Menua, 2020. — 118 c. — ISBN 978-5-4497-0302-6. — TekcT: 3€KTPOHHBIN
/I DnektpoHHo-OnbOmmoreunas cuctema [PR BOOKS: [caiit]. — URL:
http://www.iprbookshop.ru/89418.html. — Pexum gocTyma: [aas  aBTOPU3HP.
MOJI30BATEJIEN 110 MAPOJIIO.



